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Answer EIGHT questions only. Question ONE carries 16 marks but thisisnot
compulsory. All other questions carry 12 marks each.

Marks
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TR G B T R
1. IntheDBMS ehvironment, the Relational Model is different and more popular 16
than the other Models. Explain this Model with the help of an iltustration.

2. faet ¥ SR T W - (FAFF4 30F)
%) feror o =
@) T Feead St R W 9
) Sum R T

2. Distinguish between : - , V 4 each

a) Dataand information ;
b) Application software and system software.
¢) Program and a Flow chart. '

3. F) P s yuneh % e o i g ? (37 % 6 37)
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2 , AC-21
a) Whatare the advantages of windows operating system ? 6 each
b) A network administrator's role has gained importance in an insurance
organisation. Discuss. .

wfr fewfirat i - | (3% % 6 3i%)
) T e ond. W
i) WRER 2R ¥y fafr e

Write Short notes on . 6 each
) ASCIIcode
i)  Different strategies for Testing the Software

) e sl - (38 % 1 3i)
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ULSI, MICR, DTP, DFD, SQL, COBOIL ' ,
i) IR Fve i 8 3
%) InUNIX - rmdir: Ip: mount
@ Inbos - move: deltree: ren
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i)  Identify the following:-

a) A sequence of detailed instructions stored in a computer which -

automatically controls the action of the hardware

b) Anoperating system capability which enables aprogramtorunona
system which has insufficient main memory available to it than the
program needs o use. '

¢) Step by step diagrammatic representation of the logic paths contained
within a computer program.

d) Itisaprogram which enables to store large volumes of data and
derive meaningful information from it, by extracting data in different
formats or based on different criterian or parameters.

¢) A medium used for recording data. They resemble LP record and

are coated on both sides with metallic oxide. On the number of
concentric circles (called tracks) on their surface datais recorded.

f) These printers use laser beam to print the output on the paper by
burning dots on the paper.

i)  Expand the following:-
. ULSI, MICR, DTP, DFD, SQL, COBOL

i) What these commands stand for?
a) InUNIX - rmdir: Ip: mount
by InDOS .- move: deltree: ren

o RET F S Taw T ¥ & Rl silieh o Tivw F =W 3
50% 3 i o 2 STeies 1 A o 200 F ¥ 120 % 1 A T
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Tests are conducted in English and Mathematics. Minimum to be scored in
English is 50% and Mathematics is 50%: and further the Aggregate marks
should be 120 out of 200 to get selected. However the Institution which
conducted the tests wanted to prepare a list of candidates who have scored
atleast 50% in both the subjects but failed to score 120 in the aggregate.

Preparc a Program flow chart for getting the list of such candidates with Names,
29- \

1 each

12

12




10.

10.

T THEA R - R |

4 AC 21

Roll number and marks scored. (A% %4 i)
T @ 2009 797 1009 57

) WG Ty

i) BT ST

ii) ST GHTE T AR 7 4 each

Inrespect of the Decimal Numbers, 2009 and 1009, Find:

) theBinary equivalent

i) the Hexa Decimal equivalent and

i)  the Octal equivalent 12

wwmﬁﬁﬁaﬁwﬁmmm%mmm

12
Compared to the conventional systems, Local Area Networks have certain B
advantages and also some drawbacks. Discuss about them. (Wedteh o 6 37h)
ey d fofaw -
%) SRS snfi | :
) - IR ARG S | 6 each
Write briefly about :
a) procedural programming :
b)  object oriented programming : (FAF & 6 37%)
) ISR, O T ST 3940 § - 747 319 59 FoT G & 0

R AR T Y | o

@) wgd Aol F weer v 6 each

a)  Compilers are more useful than interpreters. Do you agree with this
statement? Give reasons. ,
b)  State the importance of forth generation languages.

—END—
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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE UNDERWRITING
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

o MaﬂG.
1. e d e .- : (T &4 37)
- %) SR SR w1y wa yeE o
@) ey gry |
M) T AT A IR |
¥) 9 i |
1. Write short notes on:- . 4 each

-a) - Incidence and Intensity of extra risk
b) Restrictive clause

¢) Need for and purpose of selection
d)  Group underwriting.

2. %) Afea Siter dinis 2 faftnr ol ot s @ quif i | (0 %6 3i)
T) Sl GR1 AR She & w9 3 2 el areed @ e Ee |

2. a) Whatis the underwriting process for different categories of female 6 each
lives?
b) What are the restrictions imposed on female lives by the insurers?

3. %) AR A S 1A AH T T BT g W R S ae? 8
@) -8 S 3 R A TR TR BT ST A S & IR 4
U HiSiT | ‘ ‘
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a) State the factors to be considered while underwriting cases of 8
underweight.
b) Whatare the provisions in the Resolution to be passed by the Company 4
Board for keyman Insurance?
&) T JuIel i SR e e ‘ 6
W) fafafan fasfal wa om o senat s duims g T a2t &
M AT =T - (5 & 2 3i)
i) e
il) & qd g § ge) 3 TR
i) ¥ SEERT
a) Dcscnbe briefly the Urinary System. : 6

b) How proposals disclosing the following impairments will be dealt 2 each
with by an underwriter?
i) Haematuria
ii) Operation of kidney stone two years back.
iii) Polyuria

frfofa fuftbeass el & fuied ey A AT ST - (50 % 3 30%)

i) TSl
i) dftreny
iii) STy

iv) TGS Y

Explain the following medical terms giving their underwrmng 3each
significance:-

i) Lordosis

il)  Arthritis

1ii) Appendicitis

iv) Tonsilitis

%) e w Fufor o @ s R di 8
@) dEEEs i goreht o s dmd 8?7 | 4
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8
b) Mention the limitations of the numerical rating method. 4
%) frerta stamt o diar s wra, e R ¥ s Rk 8
B o1 I R SRR SR 1 1 0 2, §9 A W RER
T ST 2 87 59 Ho FY R i |
W) AU W TR Ao 27 S et o e 4
2) One of the important factors which is also to be taken into 8
consideration when underwriting sub-standard lives is the effect of
reserves. (accumulating under most of the policies). Elaborate. 4
b) Bring out briefly the underwriting significance of Double Cover
Endowment Assurance. '
%) Ao S =t aenfie e | 2
) s B FTol | e A o v @ a1 R drs T HOrEn
B THAT R ?
) vt R i 3 v # s et St wer e, 4
e SR Y e B T e 2, 59 e R st
=t i @ e S |
a) Define the term “Moral Hazard”. 2
b) What are the reasons due to which the proposer may hide or distort 6
information?
¢) Explain bricfly the Agent’s Rolc as a primary underwriter to exclude 4
the possibility of moral hazard so far as it is practicable. '
Frreferian o swie st & freetyor #she | (379 & 3 37%)
¥) wEARE
Q) AR
M) wRar
¥) 3T FH

3 AL -22

Describe briefly the operation of numerical rating method.
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Bring out only the underwriting significance of the following: ' 3 cach
a) [ilariasis :
b) . Typhoid
c) Malaria
d) Hookworm

yreTE SN S 3 Frefiad der vay Rifsfeag Rad seqa o @ - 12

%) wfger e D TR 34 T

q) Ega™ . et
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The following particulars arc available from the proposal and the Medical Report 12
submitted for Life Insurance. '

a) Il'emalcl.ife 1 Age34yecars
b)  Occupation : Teacher

- ¢) Plan& Term 1 Whole Life Assurance with term 31.years
d)  Sum Proposed : Rs.3 Lacs.
¢) Previouslnsurance @  Rs. 50,000/- under 14-25 one ycar back.
f)  AgeProof : Passport

g2} AnnualIncome :  Rs.2 Lacs.
' 34




5 } " AL -22
h)  Family History ~ i+ Father died at.age 65 years Mother died at
age 70 years. .
i) ~ Husband’s Insurance :  Rs. 1 lac under 14-25
J)  Personal Condition : 1) Overweight 38% EMR -+30
i) B.P136/90 EMR 420
iii) Wears glasses, power of lenses -6.5 for
both eyes.
k) Personal History ¢ Influenza six months back.

Mention what additional information and requirements are necessary to
«consider the proposal and give your underwriting decision, if requirements
are in order and found normal.
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ASSOCIATESIHIP EXAMINATION
APPLICATION OF LIFE ASSURANCE
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Answer EIGHT questions only. Question ONE carrics 16 marks but this is not
compulsory. All other questions carry 12 marks each. ‘

Marks
Tl a W dfere fooqelt fafae - (358 & 4 3iF)
F) whred g
@)y feque
) yd Site g
) <y S
9) e &

Writc short notes on any four :-
Consideration
Direct Marketing
Prior Investigation
Insurance Ombudsman
Postal life Insurance.

ARy A 87
[T AT % YA 3aTd 1 87

What is estate planning?

Enumcrate tools available of the Estate plan.(ways of distribution of an -
Estate)
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3. %) avel FR @ gRemfim i | | (970 4 31%)
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) - FAfE-aett § i T S & S we g st 3 v 3w e
ol e eg T el & |

3. a) Whatis an Annuity contracts? 4 each
b) State briefly main annuity contracts. '
¢) What.do you understand by the term “Annuity Certain lor specific
number of years & thercafter for Life™?

4. %) HHE d ER F qEAE dee B o A | (3T o 4 3iF)
G) HYE S U & N qee T Tier |
M) T Tl T HT srafy din g yeR Rt e 87

4. a) State the basic fcatures of Group Insurance Contract. 4 each
b). What are the distinguishing characteristics of group insurance? :
¢) - How does one ycar Renewable Term Assurance Work?

5. 1983-89 & IR TR A1 Fefe et 2 R S Som MU g 3 12
it el ger § auly R ‘ ’

5. Right from 1988-89 Gowt. of India is adopting various measures for poverty 12
alleviation. Enumerate such measures, discuss them briefly.

6. %) Gﬂmﬁmﬁﬁa%mﬁa&ﬁmﬁa%wmmmq@ﬁ 10
o |

@) Sfem e F dmr R St off 3 R e stes @ 2
6. a) Stategeneral principles of insurable interest under life insurance contract 10
and give recognized examples of insurable interest. \
b) At what.point of time insurablc interest must cxist in life insurance 2
contract?
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Q)
7. a)
b)
8. &)

)

¢)

G)

9. a)
b)
10. )
)
10. a)
b)

3 AL -23

. J :
rfraffer - FSAT 3 T[T T @ T ST | 8
T A § IS 3T R UEe W ¥ SIfe | : 4
What are the basic features of superannuation scheme? 8
Discuss tax aspect under superannuation scheme. 4
Iy SffEm 1972 & Tl | W S

fopalterelr & IUaI ¥ F1-41 fehed 3o § ?

3G TR SHivar fehed Tod 31esT 8 7 : | 2
Statc the provisions made under Gratuity Act 1972, ’ 6
What arc the options available to the employer to make provision? 4
Which is the best option in your opinion? 2
e e 3 s e o e s g § 2 (O 6 39)

T e are) serie Geert 8q e s e g & geen
it frra A |

State life insurance needs of Business organization? 6 each
How sole proprictor of Business Organisation can provide business
protection with the help of life Insurance?

Sl AT R “nvara () S T HS | 3
i aafifor 1938 o ¥Ry 45 %) sarer 1 & 98 350 g Arvare
& Rrgrr” =t diftd sar g ?

0

Define * Warranty’ under life insurance contract.
Explain how Scc.45 of Insurance Act,1938 restricts the doctrine of 9
warranty?

(V2
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LEGAL ASPECTS OF LIFE ASSURANCE
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory. All other questions carry 12 marks cach.

1. el & 9 Rl ww R S o RRae - (e 3 4 37)

Marks

%) "y fy SRR 3R fy SR T
g) YErR

-
|)
)

gyl ot g
T (g ddizem)
grEn

1. Writeshort notes on any four of the {ollowing:- 4 each

a)
b)
¢)
d)
. C)

Joint Tenancy and Tenancy-in-Common
Arbitration

Contract  of Indemnity

Consensus Adideiti

Fraud

frrafefed w=at &t aRamr &fs - ‘ 4
) IR AW
i) ’\aaﬂﬁifé’
ﬁm%swﬁmmmaﬁ:ﬁwwsﬁqvﬁwﬁﬁmw%n
wagEy, Sa S oiferd % siefe Y AR ey a| § SwiE 4
‘SR % stata STdiEr # oRtwe § S 2
FARY 5 e A dfer & sforla Ry weR Y o § g & 4
T IR PR % st e s et € 2
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b)

c)

a)
b)

Al -24
Define the words ‘ 4
) Consumer and

iy Deliciency in service

as defined under Consumer Protection Act, 1986.

SN

Lxplain. How nomince under life insurance policy in death claim comes 4
under purview of the definition of *Consumer ™ under above *Act'.

State which types of deficiencies in service under life insurance contracts 4
can be generally covered under the above 'Act',

et s sfefem & ofwia i & waEit sdw § 0 (R H6 39)
wmﬁﬁm%mwaﬁaﬁ%%mm ’
gl

Which are void agreements under [ndian Contract Act? 6 cach
Explain the circumstances under which a contract can be discharged.

Kﬁmﬁ%&r@‘mﬁm’ﬁm%wamwma@m%? 12
4 SO 5T S v H e e s wfer 51 RR # gad E 9 s
9 SR & Foffr srarerdt gt % smym W sfae sy |

“Insurance contract is a contract of Uberrima Fides.” Do you agree with this 12
statement? Can a wrong declaration by the insured in the proposal [orm vitiate
the contract? Justify your answer with decided court cases.

%)
Q)
)

)

S fe =1 e ey 8 0 2
Stte & wfemred, @ w01 amavaE 8 2 2
Stter i wferer § 58 wa Iufiyn g wiRe SR gy A gy & 2

E

ﬁwﬁl@awﬁﬁzﬁmﬁammﬁm%,ml 6
i) FrdiEr - st

i) WTHER AU Yg-HIERR F o ©

iii)  STHMARR 37U G8-SHAER % STaT 1

V) TER, TR % SET ®
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a)

b)

&)

3 AL 24

What is meant by insurable imerest”?
Why it is essential in life insurance contracts?
When it should exist in lile insurance contract and in nonlife insurance
contract?
Explain the extent of insurable interest available in lollowmn cases.
)  Employer-cmployee
i)  Partneron the life of co-partner
i) Surety on the life of co-surety.
iv)  Creditor on the life of debtor.

Site i wfemr & sfarfa e Raam & e aom g
TEE & fafae |
ma%a%ﬁaq%wﬁw%@aﬁ%@ﬁﬁgﬁmmww
A BT -

)T YR R s 9§ A AT A | a9 IS U8 W

FHSARIR & T 3R T # geg & e |

i) I AfE @ et ung W@g@gﬁw@ﬁ?ﬁ

Tﬁeﬁmﬁwaw :
i) T W@Q%qﬁaﬁtﬁwﬁmm#ﬁaa@ﬁméﬁ
21 39% URVTHEEY IH! g1 AFATIE & T |

Enumerate the various exclusions clauses to accident benefit under a

contract of Life Insurance.

xplain with reasons whether accident benelits claim under following

policies would be admissible.

i) "A’ina drunken state was travelling in a bus which met with an
accident at Pedder road and he died.

i) While robbing railway passengers. *M’. a dacoit was shot dead in
the police encounter.

) *S"astudious student cuts her veins with a sharp knile. Her hands
get paralysed as a result of the same.

) Afeal
i) S St 6 et i s, |&7?a$ram 82 & @
4 uRefie fpar T &1

M
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@) 3fEal SR At 5 SR TRy | -4

)

a)

b)
¢)

%)

Q)

a)

b)

3)
)

)

a)
b)

feT e1eR & R W et 3 i 3 gumEy | 4
Y BRI W e B w R

Define the words . 4
)  Agentand
i)  Principal as defined under section 182 of Indian Contract Act, 1872

Distinguish between Agent and Servant. 4
Explain the role of an agent on the basis of Maxim: -4

"Qui Facit per alium facit per s¢”

(J75% F 6 37)
o sifefam = A 39 i SR AT 5 gt g o @
| b Sfter fmy qiferedt % aienta ws Amifsd % T sER § 9
Feul § A W 8 S 2
frenfeq &t wegar sfeform 1874 9 urw 6 % &3 B gy

Section 39 of the Insurance Act givesa complete code for nominationby 6 cach
the policy holder. What are the rights of a nominee under a Life Insurance

Policy? Does assignment cancel nomination?

Explain the scope of See. 6 of Married Women's Property Act 1874,

et ereft 7 =19 W 3w e T & 0
mewmm#mmmmﬁmw
SRIREr 0 € qur W e aEt % S i sk
A SHHRT A SRl g 2 ,

3R AR AT/ 3reardf 6
) T '

i) e

i) Reanferan @ qr dtar Fh $9 2@ W gem 300 0

[N

=N

Whatis mcant by carly and non carly death claims ?

Which requirements are generally called by an insurance company for
consideration of death claim ? In case of carly death claim which additional
requirements are called for ?

E SN ]
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¢)

Q)
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a)

by

5 Al -24

1. Claimant nomincc/assignee is
)  minor

i) Lunatic

i) Insolvent

“how insurance company will scttle claim?

ferr forelt ereftad = seroferrdy &t F19  dadl 9RO qEeER H
el A § 7 U e R e i gl & fir g
41 Sire b ffem § s § g2 @, i @l oo
g e ?

In casc of intestate suceession which evidences of title a claimant has to
produce to insurer for claiming policy moneys?

‘Whatis re-insurance? How does facultative reinsurance differ from Treaty

reinsurance?
Is income tax benefit for Life Insurance premiums form a part of policy
condition? '
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ASSOCIATESHIP EXAMINATION

LIFE ASSURANCE MANAGEMENT
g ;3 ue | [&eT 37 © 100
Time: 3 [1ours] [ Total Marks : 100

fonl arre wwHl o S TRIT | worm wea & 16 i ¥ foheg ue erforard T €
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. I9% 97eA i e wfwar § o meel, sdeial, siftesdatetl qw 16
3T AN B B BT Sl € |
F) e S F T WEH, HH HaEE S Tl 8 g ysr = g 7
@) & Pt & s, Sl 1 Fa By ey, 9k i, S0 AR ?

1. Every organisation has to deal with its customers, its employees, agents or 16
others in the distribution channel.
a) Inwhat ways are customers of a lifc insurance company different from
customers of other businesses?
b)  What special arrangements, if any, must be made by the insurer
because of these differences?

2. W el S @ foh imie e Bl geEt STvd, ST g e
FEd AR & s frarder walert @y &0 § |
®) s B F0 UF siws! A sravasar i a8 ? 4
@) 37 IHHIRET # g amgy St fSharder (I SEted SIS S

& SR v sreler % R R 91 3 steiar & g S e

JE A | '

2. Itissaid that the Actuarial Department has to get from the operating offices 4
data relating to mortality experience, lapsations; product preferences, etc.
a)  Why does the Actuarial Department need such data?
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b)  Listout the information which the operating (Branch) office will be
required to collect and report and also the department in the branch
office which will supply the information.

H&@wﬁfmaﬂﬁqﬂmﬁmﬂ, o UF R o sefafedl | gu s

Freafefe A1 et 3 T 3l sr e e AR -

) R T 41 NG FAErd @

i) s ¥ % gaeE @ T A S

i) mmﬁaﬁmﬁﬁ%ﬁﬁmﬁﬁﬁm%ﬁﬁ%W
e ¥ furd & |

The Marketing department at Head office is planning to intensify activitiesina

certain district, which is largely rural and, they find, is low in penetration. Discuss

the merits and demerits of the following three options.

)  Openanew branch oflice in the district

i)  Ulilise the resources of a local bank

i) Appointa large number of agents reporting directly to a branch office in
the adjoining district.

8

12

12

Prefofad Fet & A= W R SR - (53 5 4 37)

) &S U & 3fq § < i "o, Eﬁmmﬁml%é&aﬁm%%
WYl & HROT HIEH & |

) g i gifaftEl & simia diferiiune! 5t srya W sy o §
iR 1 U1 hig ey 81 fireran €, 3o Sew 3 g € |

) T w WA difet H T Ak fed v 8 SR @ gus
ferelia 3 7 = anfy 4 2

Discuss the validity of the following statements -

a)  The declaration at the end of the proposal is meaningless because of the
provisions of section 45 of'the Insurance Act 1938.

b) Policyholders under group policies being allowed experience based profit
sharing and premium adjustment, while individual policyholders do not
get such benefits, amounts to discrimination.

45

4 each
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¢}  There isno harm in making a * Without Profit’ policy ‘Participating’ or
vice versa retrospectively.

FRUT wfea aay % fefofan § @ S @ e we § i A

3T ? (5 9 2 31)

%) e 1 A o | o A e =R |

@) 5 e sreter & 20 TR A a= A & Siaa o & 9
i oiferedt A E N W S g A g 1 '

) v o § AR R ¥ A e Ieohe, dwisd 9 g § el
T2 |

) U uiferdl & W’ 8 & 5 A a1k g aren g e e
S G |

o) SusiER HeA S e fera mied R e R 9@ €

) aeft FEH A (e shem el wftafer & 8, 9 g9 i
stfefram & graurEl & HROT S 8§ |

State which of the foliowing statements are true and which ones false? Give

reasons.

a)  The span of control should not exceed eight.

b) When 20 employces of an officc take policies under Salary Saving
Schemes at the same time, there is a group insurance cover.

¢)  The friend’s name in the proposal form is a ‘material” fact for underwriting.
A claim by death occurring 5 years afier commencement of policy cannot
be repudiated.
Consumer Councils are appointed by the IRDA.
Alllcgal matters involving a life insurcr arise from the provisions of the
Insurance Act. '

T St % frafafed #1 wew wwe | (¥ ¥ 3 31)
%) Frled T JEE (0 & M )

w) ffecsa @reg fRad (MHR)

T &

¥) GHY H §E




4 AL -25
Explain the importance of the following foralife insurer 3 cach
a) O&M
b) MHR
c) BARS
d) Time Compression
um * 6 37)
%) ©H TR A i fR 6 sue o o e we § AR o S
Teeits UrR % SR B R 4@ S SR & a8 T
TS SIS SRS ¥ oiad S @ A1 | UF A1 FEuE & ®9 F 39
TEeR ! 5y at gore 31 frad Siftm =l 1 geg = wifed fean
S | 3 e 3 g e R & b i i v v e,
S G ST Bl WA WA S S 7 a9 7 e S |
@) @ gaa fien 8 fF Shad dfim & sy & e sl & w9 d
wrda S S F Rar T =R P A g SgE o g |
T WA ST 6 4 39 g9 YeE § W § ?
A claimant repdns that her husband was on board an aircraft that - 6cach
disappeared without trace over the Atlantic Ocean flying from the U.S. to
London. As Claims Manager What advice would you give the claimant to
prove the death of the insured? Your Department has suggested that as
the body could not be found, this must bL treated as a case of a missing
person and wait for 7 years. :
b) Itissuggested that the funds of a life insurer should be placed in Fixed
deposit with public sector banks, as safcty of funds is the prime
consideration. State, with reasons. whether you agree with this suggestion?
frafafes W W fufirl ey - (SR % 4 3i%)
%) w1 @& Pl & o R forad &
@) Ifafy wiferdt
) ifefEt S us § e 3 1
Write short notes on : 4 each
a) Follow up of deposits
b) Duplicate Policy
c)

Attachment of Policics
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5
#) elE vEE % wgE Pt 3 seoe SR |
@) S gelagi T A SRRy % ferw T S d A
D R & Fram SR & S g
i) T o srEves 8 o d

State the main principles of Records Management.

When clectronic technology is used for records management would
i) any of these principles become redundant

i) any new principle become necessary.

. U VIE/ RS rafert & fn &1 A0 aqs Rl Frfaiad s R

mm%‘ (S % 1Y 7).
%) S % A I AF T G <6 R It & g o 8

@) T el qE A< R 5 swa sl @ A
SR o |
3iffterd fifEm Ft e & ar¥e W RER e |
U P T el 3 7 7 wiRerlt 3 e Ao
e o witafea s A |
@ﬁmww@mﬁéﬁmﬁaﬁmwﬁiwm EREECR:
U VR FrEfer @ier S|
mﬁﬁﬁﬁwwmﬁﬁsmmﬁ%wﬁzﬂ@
3 foera gan @ |
@Wﬂtwﬁa@m%m%mﬁﬁw%@@w
A &I H D
@w@ﬁwm%mmﬁﬁmqﬁm&@ﬁ
wftafer frar s |

. State the department of a branch/divisional office in which the following _]ObS 1 each
- are likely to be carried out :- .

a)  Preparing the cheque for a claim which the claims department has alrcady
passed,

b) Reminding an agent that his licence is due for renewal.
¢) Considering a request for removal of cxtra premium.
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d)
€)

g
h)

6 - AL -25
Advising an employer about a new policy to be included in the SSS list.
Considering the rcqucsl from an MLA to open a branch office in hlb
constituency.
Dealing with a complaint made to the Chairman about the dclay of more
than 2 years in settling a claim.
Dealing with a proposal for introducing a new plan covmng circus artistes.

Application of a doctor to be included in the panel of medical examiners.
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ASSOCIATESHIP EXAMINATION

LIFE ASSURANCE FINANCE

| : 3 He )
Time: 3 Hours]

3= gt ueles wee 12 s B

AL-26

[&et 3fes @ 100

" [Total Marks : 100
Ter=dl 3113 U=l o I SHRIT | e wve ¥ 16 W%ﬁﬁ'ﬂ%m?ﬂ%l

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

I T €8S A% IV &, . & aw19e 31.03.2009 1 e g d ¢

(w92 1000 ®)
wHiw faraRor am ELL
1. fywateiliet stfm 12,800 -
2. aftE 15,000 .
3. %% aMY 5,000 -
4. YJ T - 17,000 -
5. YRygaEar @ 31,000 -
6. 3fverafeiial swritem 12,300 -
7. (31 et wodiem - 315
8.  afifeat o1 gfawa - 15,000
9. %% Td 9% Uy 3,250 - -
10. 3Y@R ' 5,320 -
1. 999 a9 & s - 32,450
12. JmEEy gy 20,200 -
13, fafem o= et 4,15,300 -
14, =, A e el . 29,500
15 it o sy 45,700
16. &HF W HmU 50,250 -
17.  Sia fafy - 4,26,382
18. WX M 13,100 -
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TR  Taeur , aw S
19. AT G & . 2,750
20, ST URyFEd g - 13,400
21. =TT & 1 e - . 8900
22, WE¥A % ey 3,817 : -
23. -uftewfual st Rt ot a b - 1,100
24. wiferedt S ue - 14,200
25. wEE fifvw : - 92,921
26. oiffq gt Siftmm 312 ]
27. & ' : 5,390 -
28. 3w g - 25,000
29. fafw @R | : - 1,700
30. fafdw IR 2,800 -
31, §Eqwr 3,300 -
32. fafey smr 1,779 -
,  He - 6,63,618 6,63,618
sr w1938 %mﬁﬁmm%mﬂmmaﬁ(
e IS |
Frafafas e & Fwar g - (w2 1000 &)
; .,
) ézraawmrmammsﬁq ~ 2,600
2) e WO & wrEee SRy ,
‘ et gAfa , 422
- 3R S 632
e &R 1,828
3) 3iffa s ‘ : 305
4) yda feRa | 15
5) We FTEHE . ' 27
6) oTeied Td Wk TN 8 SARET H JE€H 18
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Following is the Trial Balance of M/s Moonlight Life Insurance Co. Ltd. as at 16
31.3.09
(Rs. in '000)

Sr.  Particulars (Debit) (Credit)
No. Rs. Rs.
1. Agents Advances 12,800 -
2. Annuities 15,000 -
3. Bonusincash 5,000 - -
4. Claims : By Death 17,000 -
S. Claims : By Maturity . 31,000 -
6.  Commissionto Agents 12,300 -
7. Commission on Re-insurance (Ceeded) - 315
8. Consideration for Annuities - 15,000
9. Cashand Bank balances 3,250 -
10.  Furniture and Fixtures 5,320 -
11."  Firstyear premium To- 32,450
12.. House Property 20,200 -
13. Investmentin Approved Securities 4,15,300 -
14. Interest, Dividend and Rent - 29,500
15.  Loanon policies : 45,700
16. LoanonMortgage 50,250 -
17. LifeFund - 4,26,382
18 Motor Car 13,100 -
19. Outstanding Claims - Death - 2,750
20.  Outstanding Claims - Maturity - 13,400
21.  Outstanding Claims Written Back - 8,900
22.  Otherexpenses of Management 3,817 -
23.  Profiton sale of Assets - : 1,100
24. Policy Deposits - 14,200
25. . Renewal Premium - 92,921
26. * Re-insurance Premium, Ceeded 312 -
27. Salaries ' 5,390 -~
28.  Share Capital - 25,000
29.  Sundry Creditors , - 1,700
30. - -Sundry Debtors , 2,800 -
31. Surrenders 3,300 -
32.  Sundry Deposits 1,779 -

Total: - 6,63,618 6,63,618 -




4

Prepare Revenue Account and Balance Sheet as per the proforma prescribed
under Insurance Act, 1938.

Following adjustments are to be considered :- ' (Rs. in '000)
! Rs.

1)  Provide Income Tax Payable - 2,600
2) Provide Depreciation on E

- House Property r ' 422

- Furniture and Fixtures 632

- Motor Car ' 1,828
3) Accrued Gratuity : 305
4)  Prepaid Rent ' 15
5) Outstanding expenses of Management 27
6)- Provide Reserve for Bad and Doubtful Debts 18

i e SeaE . for. % @t W & w e st

. fafaw)

v)
vi)

® 1,15 540%§aﬁmxﬂwwﬁfﬁaﬁmﬁanﬁlw€nw®
STREVT = T |

AL -26

(7 & 2 3f)

31.3.2009 & ST YA ®. 30, Hoarmwmé@raf%ﬁﬁ-

FATE |

IR & for fimr shftrw 1. 120092331 122009aasamfémw
®. 1,50,060 1M =17 3 WauH &R |
TUSTHS ST GITOTae &1 &. 4,500 7 far mar R ¥ 8. 1,500
M & & o T |

31.3.2009 = fafrie W = i gom W 3 7 gan ®. 40,200
yom Wifaw &1 9% w. ZIOOOWWawﬁmﬁE 300
I 9% ¥ fd e

Write journal entries with narrauon in the books of Umvcrsal Life Insurance
Co. Ltd.

h)
ii)

Rs. 1,15,540 were wrongly debited to House Property Account. It was
repairs and maintainance expendlture
Outstanding commission as at 31.03.09 Rs. 30,110 to be provided in
Books
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iii) Insurance Premium for Cars was paid from 1.1.09t031.12.09is Rs. 1,50,060.

Provide for prepaid expenditure.
iv) Penal Interest paid to policy holder Rs. 4,500 after deducting Income

Tax of Rs. 1,500
v)  Interest Accruing but not due on investment as at 31.03.09 is Rs. 40,200
vi)  Cheque for first premium of Rs. 21,000 was dishonoured. Bank charges

Rs. 300 for dishonour charges.

%) AU IR O F 74T S E ? 4
) 3| %2009ﬁmmﬁmm%mémwmﬁamw 8
) UEEH F FER A T & 30,000
i) =% o 5 A e i fred ®. 15,000
i) =% S R W S F e e gw ® 11,000

v) i e A % Tm @8 & s R & 12,000

v) % SRR T S ered 8 T eif swa @ e ot
4 T g w. 8,000 t

vi) . 6,570 1 3 S § 1 e T ) oer 8 T Qe TR
T8 H @ ¥ F. 5,670 for@ M

Vi) T F IR TR € S ™ B AT ®, 3,000 A FAE |

viil) &, 25,000 =} T s Ufdn vRve g8 o T @m A & o
T T SR # A v T g

a)  Whatis the difference between Trial Balance and Balance Sheet 2 4
b) Prepare Bank Reconciliation Statement at 31.03.09 from the following 8
information. v
)  Overdraft as per pass book , Rs. 30,000
i) Cheques deposited but notrealised - Rs. 15,000
iii) Cheques issued but not presented Rs. 11,000

iv) | Mr. Anand deposited Rs. 12,000 directly in Bank Account.

V)  Cheque deposited for Rs. 8,000 is dishonoured but not recorded in
cash book.

vi) Cheque deposited for Rs. 6,570 which was realised but wrongly :
entered in cash book as Rs. 5,670

vil) Bank column total in Cash Book is short by Rs.3 000 ondebit side.

viii) Rs. 25,000 Fixed Deposit matured and credited to current A/c. No
entry was passed in cash Bools<
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et am W dfre frwiir fafew :-

) et e it et Wi

i) sHET HftEm

i) Yo R USTEE-TE =y

iv) W d STYE

V) A ST STEERRT WHTHA & gRee e |

Write short notes on any four :-

)  Re-insurance ceeded and Re-insurance accepted.
i)  Outstanding Premium

i) Capital and Revenue Expenditure

iv) Overall Expense Ratio

v)  Writing back of old outstanding unclaimed deposits.

%) wmmﬁwmmﬁwmm
D ST S
i) ST S H per Mfam w5 afie
@) 31.3.2009 H 79 A W I & Sifed @t F Frafiien

SR off T - w.
ferspg - © 1,25,000
& ™ 25,000
T H1 e 10,000
R 3 fhar ' 15,000
st qsht ; 10,00,000
e Al 2,00,000
T 3iwll &t e 10,000
E R 1,00,000
g feRy : 12,00,000
|re], uRewRy dferrR Brga 15,000
Fraed (Snfshe) 5,000
=], SaRat 7300
Frafafea srgqumt @ frefag -

12

12




) giemm

i) fafaeT w mfig

ity Wi 379 ST

iv) aRefy efsier sram

Explain with formulaes following ratios in Life Insurance Industry.,
)  Conservation Ratio

i)  Percentage of outstanding Deposits to total premium.

Following information is taken from Final Accounts of M/s Vakson and
Vaksonas at 31.03.09 Rs.
Sales 1,25,000
Net Profit 25,000
Interest paid 10,000
Income Tax paid ~ 15,000
Share Capital 10,00,000
Reserves 2,00,000
No. of equity shares 10,000
* Debentures 1,00,000
Fixed Assets 12,00,000 .
Current assets excluding inventory 15,000
Inventories 5,000
Current Liabilities 7,300
Work out following Ratios : :
) QuickRatio
i)  Returnoninvestment
i) Earning per share
iv)  Asset Turnover Ratio

frfafad w dfra Rufmf fafa
) dmafRfem 938 Harr 27
i) 3 YeR &l St & it

iil) A Giga qur s W®e

v) [ =g




. 8 AL -26
6. ShortNoteson :-° 12
)  Sect.27 A of Insurance Act 1938 ‘ :
)  Three typesof Life Insurance policies
i) Cum Interest and ex-interest
iv)  Prepaid expenditure

7.- 1) Ew AfAtEm 1961 (st VI-Y) @ 9 80 & Jfwifa fafm 12
7& W =R Heifd ® aagEy
i) & asel vgh # Y yer gud o g © |
iii) TIET A % W H WU |

7. 1) . Explainfour deductions under various subsections of Section 80 of Income 12
Tax Act 1961 (Chapter VI-A) o
i) How we canmake budgetary system effective ?
iii) Explainimportance of Accounting Standards.

8. &) wHRmy ey 87 « 12
@) W T 87 '
) e @ Rt TR RRe @ vt SRy |
) focifad v = =1 22

8. a) WhatisContingent Liability ? 12
b) - Whatis Depreciation?
¢) Describe any four methods of depreciation.
d) Whatisdeferred Revenue Expenditure ?

9. 3 TART :- ’ ' 12
) SAUR Y TE eI G A e ™ ‘
i) e S wE e
i) Hewehg frior ud Hre sy weafa § weafy forer oy
iv) ¥t v e Ry fryatso '
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9

9. Distinguish between ; ,
)  Trading, Profit and Loss Account and Balance Sheet.
i) Life Insurance and General Insurance
i) Administrative controls and System Development Control in Computer
based System.
v) Trend Analysis v/s Vertical Analysis.

. e HiemHe We F @ derve 31.3.2009 RS ¥R 2 | 39% 12
IR FF F 31.03.2009 H 3T @ agy |
YR sgR 33,000 -
3,47,000 -
- 522,300
2,100 -
. 1,200
5,880 -
12,000 )
8,000
15,000
500
9,000
11,500
3,720
11,830
50,300
1,50,000
12,200
28,000
- 1,70,000
5000 -
- 27,000
23,470 ;

FAAT:- 7,28,500  7,28,500

w.
) sifaw w 58,000

i) anqsﬂﬂ}mmazﬁr 58 @ 12%
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i) oG S w5 ueR L 300
iv) FE 8% e 80
V) 30%@2009@@141%@7&11?17 , .
vi) IR B Fraw 30,000
10. Ms. Neelkarhal and Corﬁpany’s Trial Balance as at 31.03.2009 is as follows: 12

Prepare Final Accounts of the Company as on 31.03.09
Dr. Rs. - Cr. Rs.

Opening Stock 33,000 -
Purchases 3,47.,000 -
Sales - 5,22,300
Salesreturns 2,100 -
" Purchase returns : - 1,200
Carriage and Freight 5880 -
Wages 12,000 -
Factoryrent 8,000 '
Salaries 15,000 -
Postage 500 -
Telephone Charges ‘ 9,000 -
Rates and Taxes 11,500 -
Insurance . 3,720 =
Sundry Debtors o 11,830 -
Sundry Creditors ' - 8,000
Land and Buildings 50,300 -
Plantand Machinery 1,50,000 -
Cashand Bank Balance ' 12,200 -
Goodwill 28,000 -
Capital _ - 1,70,000
Stationery ’ 5,000 -
Bills Payable - 27,000
Bills Receivables 23,470 -
- Total ;- 7,28,500 © 7,28,500
Adjustments :- Rs.
) Closing Stock ' 58,000
i)  Provide Depreciation on Plant and Machinery ‘ @ 12%
iil) - Stock of Stationery - : 300
v)  Postal Stamps on hand 80
V) Insurance was paid up to 30th Sept. 09 '
vi)  Provision for Income-Tax 30,000
e T ~oeam
—— END—







vy CEMTCEfT whem AG-51
, fafyre gen & sy JaETg
ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES

T3 ES [&er 3l : 100
Time: 3 Hours] [Total Marks : 100
Tergl a1me woAl & Se AT | wem U ¥ 16 3w € formg g sttt o §1

I gt weles we 12 s § :

Answer EiGIIT questions only. Question ONE carries 16 marks but thls 1s not
compulsory. All other questions carry 12 marks each.

: Marks
L. ffeRe 9 9 @i @ Hift (% F 4 3ie)
) W I
§)  ffei aor 3RGT i
) SEiN
q) g ufsar
1. Explain the hazards associated with :- 4 each

a) Rubber Industry |

b) Ginning and Pressing Process
c) Jute Press

d) Chemical Process.

2. Tyefefaa it srear it B (¥ F 6 37h)
) Feffafor a4 wnfier wfsar | :
q) R e el el & wa |

2. Describe the following:- ; . 6 each
a) The Process covered under engineering industry.
b) Hazard of static electrlcuy in Rubber Mills.
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2 , AG -51
‘ (¥ & 4 37%)
S ST Il o Frreafean wiel & wnfiver it @t 2 s SR -
3) S=RrEe
¥) SE/eEfT s
§) WEe

Explain fire hazards involved in the following sections of Tea Manufacturing 4 each
Industries —

a)  Withering Section
b) Drying/Firing section
¢) Packing Section

(FAF F 6 37)
) %ﬁmaﬁﬁﬁwaﬁwsﬁmﬁsﬁaﬁﬁﬁ%ﬁwm%
HUFEH H I HC 3R w0 F oy A At W A e
W | . )
) Rl et v & e qun frfeee A st 3g o,
foreaor Sl & g ©: samRor AR |

a) Mention any three types of Chemicals normally used in the Chemical 6 each
Industries and identify the hazards arising from each one.

b)  Give any six examples of loss control measures for storage of compressed
and Liquified Gases in a Chemical Industry. '

mﬁvﬁmﬁmﬁ@ﬁaﬁ@wwmwﬁmﬁ 12
= e |

Enumerate the processes in textile Industry from cotton bales opening to 12
finished product;
%) ERGHEA MR ¥ S s @ a1y 2 W & 0 4

) Wﬁ?mmﬁ%ﬁﬁamﬁ@ﬁ%mﬁ 8
Frdverer o ardt ok Aermse e R ST ATl et o
==t AT | ' '

20




10.

10.

3 AG -51

a)  Whatdo you mean by ‘Blow down’ in hydrocarbon processing?

b) - Mention the steps to be followed for the site preparation and layout
planning of different sections of hydrocarbon processmg units for
hazards minimization.

me%mé‘éﬁwﬁmﬁmaﬁw

" qrEefaEl # Ieohg ST |

State the precautions to be taken in the bulk tankages and tank farms of
the hydrocarbon processing plant.

@W%mﬁmmmﬁaﬁm |

State the principal products obtained by Distillation of Crude Oil.

e T St 3 -l § 4R WA 1 SeerE A g RRaRE

¥ 33T I AT FErEeh Surt s el AR |

Describe the hazards associated with testing of Internal combustion Engine
and the preventive measures to be taken in those situations.

Wﬁaﬁﬁw%w@@aﬁqmﬁm%@aﬁ@aﬁ
fremr Sur & quin HIRT |

Describe Fire and explosion hazards and loss prevention measures
associated with storage of raw materials in paper mills.

21
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NOVEMBER, 2009 R

W AR U

ASSOCIATESHIP EXAMINATION
GENERAL FIRE HAZARDS
Y 3 ue ] [ e 100
Time: 3 Hours] {Total Marks : 100
Ter=dl 31re W=l o St SR 1 wor wvE % 16 m%fﬁau‘gaﬁaﬁw{r% !
3 At U W 12 3w HE

Answer EXGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
ST A1 SR TR 7 AR @R 1 B 9 16

Which are the originating or inception hazards and contributory hazards? 16

Fad & 0 H @ Hﬁamaﬁamﬁmﬁ%mmwﬁ 12
I ] AT ST ART |

What are the precautionary measures required to reduce spontaneous 12
combustion of coal stacks?

(FF F 4 37)

) I A e aur fERRIT ufRr 9 o gweR ¥ 2
@) @Wﬁmﬁsﬁ@aﬁ@ﬁm%mmaﬁﬁm
aaraer 3Tl o7 fereroT ¥ |
‘sifags o R m@ﬂéaﬁf@ﬁﬁmmﬁﬂﬁ%%ﬁ
I3 S a1t FEEHR 3Url 7 frawey G |

What do you mean by ‘Cleaning and Finishing Processes’ in 4 each
Industries?

Detail out the important preventive measures to be taken to deal with -

the hazards associated with the process of spray painting.

Enumerate the fire hazards and their preventive measures in ‘Electric

Arc Welding’ Processes.
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2 AG-52
(0 3 4 3i%)

ﬁmﬁvﬂ@ﬁm%waﬁm % it eiifre oited & @@ @t

T 1 U YA 8 -

) e

§) wfy frare s

§) wderor

Explain the following factors which may increase or reduce hazards in 4each
various Industrial Premises:

a) Layout

b) Loss Prevention Programme

¢) Supervision

a7) wifives el @ sraemon § ey @ guee @ 7 (5 % 4 3F)

7) it frorelh qar sait f TR 2 T & & Iqreer AT |

W) e S el 3 i W, g e e § wifte sner se g
%wﬁa@ﬁaﬁ@aﬁaﬁﬁzﬁ%mwmmmﬁ%? .

a) Express your understanding on the phenomenon of Static Electricity. 4 each

"b) Give two examples of Static Electricity and its assocxated hazards in
Industries.

¢) What measures are to be taken to eliminate the hazards arising out of
generation of static charges on the particles in dust clouds by their
movements in air?

ft 7 39 WaE q T8 et & A L NereT SIfe | 12
State the importance of good management and housekeeping in Fire 12
Insurance. ,
3) mmaﬁﬁﬁﬂﬁmwaém ' (eI 3 2 37%)
i) qoui s SR
i) O &
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3 , AG -52
(I & 3 i)
%) FfaRen 3 s e ATl o ) Qs 3 Rre s T4 g
A H Felg 37 7
) CTRETEN/ - Yt YEu F
it) ,Mﬁmm#wm#mﬁﬁeﬂwm

Give, in your own words, the meaning of the following:-
D  Natural Gas ’
i) Perfect Party Wall

i) Cubical Capacity

What precautions would you suggestto control fires caused by :

) Careless/Surreptitious smoking

) Poor earthing and maintenance of wiring system of electricity
distribution lines.

mﬁ%mmmwaﬁww'l

Enumerate the types of Fire Extinguisher and their functions.

TR/t 3 fawhie 3 a1 S0 8 § A g1y Py 3 sem T A
Faul #t == i | '

What are the causes of Boiler/Furnace explosion and narrate the steps to be 12
followed for the loss prevention?

- Tt i W SR fewforat ferfae (T & 4 37)
3) faless (shaited) | ’

¥) I

¥) A9 cEnT

%) TN W EE

T) At eme




4 AG -52
10. Write short notes on (Any three):- 4-each
-a) Incinerators '
b) Lubrication
¢) Gas Turbine
d) Anatomy of Loss
€) North Light
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T Ehmeter  AG-54

ASSOCIATESHIP EXAMINATION
FIRE INSURANCE UNDERWRITING
g ;3 6e ] _ [&het 3iak : 100
Time: 3 Hours] [Total Marks : 100 -
Tt 31me Wl o S ARG | worm wee & 16 3fe § feg T arframd
T A URAFE T 12 S HE

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1L ) it geemed viferdt werm &0 & SRl &1 Iea R | 4

9) 3 diferdl & SR # SRET Yy SR | 12

1. a) Give reasons for the grant of Fire Declaration policy. 4
b)  Give an outline of how this policy operates. : 12

2. ﬁﬁﬁmﬁmmﬁmm@mmaﬁg@%ﬁwﬁ 12
& Fuiq Fifsw

2. Broadly describe the fire covers which are included in the Industrial All 12
Risk Policy.

(H?amés«sw)
3. ) 3 & oftia fendt ©: “wrr aToasiAl’ 1 SoerE IR |
) aﬁaﬁﬁﬁﬁwm%waﬁfwaﬁ%? S

3. a) Mention any six “general exclusions” under Fire Insurance. 6 each
b) . What are the duties of Insured on happening of a loss?

4. fAfefem wemydems? | (A F6 )
) 6 GHEIS U
T) T ¥ g
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What is the purpose of 6 each
a) Escalation clause

b) Agreed Bank clause?

o) s gEme v S ) 3w Fwo R 2 (3% % 6 i)
) frafaiad sicee! it 7ee & srerdt gemmelt wiferdt & sjmty srFfan
siftre sk fiftem & Reve ) orn e |
) dw w5 W
i) SfEmaR @ T 2.00 %o
i) T (e i Seome) €. 3.5 Wi

a) What are the conditions for issuance of a Floater Declaration Policy? 6 each
b) Calculate provisional premium & refund of premium under Floater
Declaration policy with following Data :
D S.I. Rs.5crores
i) Ratesof premium @Rs. 2.00 %o
i) AMD (Average Monthly Declarations) Rs. 3.5 crores.

QI bl SATEAT T | YT & SR R € 7 12
Define Reinsurance. What are the objects of Reinsurance? 12
7 Rl ) o A R smeR W e e A W o 1 12
Discuss the principles based on which fire premium rating is done. 12

ﬁﬂ"r?ﬁwq{mﬁwﬁmml (37 % 4 31%)
) SyEH

q) gRudy

w) Sifen

7) g e
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Write short notes on any three of the followings:- ' 4 each
a) Contribution

b) Warranty

¢) Risk

d) Actof God perils.

3)

)

(FAF & 6 3)
I A qo ey sy diferdt & il sies wite WReR § @
IR &1 gt g el ifive aver % R TRER % Uik Sv Y
el & ar-aR =t I & e | gar wee sve @ 9
T W o ATl STvastHl &1 Seoid R |

What cover is provided under the standard fire and special perils 6 each
policy in respect of Deterioration of Stocks in Cold Storage premises

due to accidental power failure consequent on damage at premises of

power static or due to an insured peril.
Mention the exclusion under this cover. ’ ~
(IRAF F 6 3i)
1P viferdt & sfaetar sftem & forw wahR % feaheg syerey & 9
fereit <t Friegor Rt Sitfew qur sl % o Seweww SR |

What types of discounts in premium are available under Fire policy? 6 each
Give six examples for Risk improvement mentioned in any Risk
Inspection Report.
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giture gifer (:1f9) ftmn

ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL LOSS (FIRE) INSURANCE

g ;3 ue ] [T 3@ : 100
Time: 3 Hours] ' ‘ "~ [Total Marks : 100
Tt 21ra Wyt & e’ RN | wurm wee & 16 ofe ¥ oy oy st A 7
srmaft sy 12 3w H )

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(A o 8 37%F)
1. ) ﬁﬁmmq@mﬂmm%mﬁuﬁwﬁmsﬁ@
HINT |
¥) QB MR W AVGH W O F w1 EER § 7
1. a) State the conditions prescribed for granting Dual basis wages cover. §each

b) What are the advantages of taking cover on wages on Dual basis?

2. frefafas e § IRy snur faftufr w 27 <@ &t ufdr &t o 12

Hife
i uf¥ - ¥. 24,00,000
Y[R AW + W Yo . #. 30,00,000

© S IR - . 10,000 7

3y 37y & A e - 5,000 T
s == ; ®. 2,00,000
At vl pr | a9 - ®. 50,000
affen SeareA ' - 12,000 &

e :- U HET -

29
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Work out the claim amount payable on output Basis specification in the following 12
case:- :

Sum Insured Rs. 24,00,000

Net Profit + Standing chargés Rs. 30,00,000

Standard output 10,000 tons

Output during Interruption period ' 5,000 tons

Additional expenditure Rs. 2,00,000

Savings in Insured Standing Charges ' Rs. 50,000

Annual output 12,000 tons

N.B :- Make suitable assumptions

aReT gt (@) s i % st g we it

Explain the operative clause of Consequential Loss (Fire) Insurance Policy.

0. . ViR % sieta SR af e R F0 g, BrefRen @

ot st ) @t 8 2 | (552 35%)
) ot ufyr

q)  THA GAH

¥) AN eHeNe

7)  aiffs zdsiiay

%) i sl & Sk et

V) & a9 g e

In preparation of final loss assessment under C L. policy, what purpose isserved 2 each
by the following;-

a) Suminsured

b)  Gross profit

¢) Standard turnover

d) Annual tumover

e) Tumover during Indemnity Period

f)  Increased cost of working




AG -55

3 ,

5. @M 3eber o e e W e welers & ST o oo T 1 12

5. Mention the functions of the Surveyor on receipt of assignment for loss 12
asscssment.

6. ¥ HifT f& wRumd aify (i) diferdt & sieefa Nftrm a7 = &1 12
frafor @ & e R @aiw ‘T’ @R W R yHr fHaER
frar ST @

6.  Explain how ‘inception” hazard and “interruption’ hazard are taken into account 12
inarriving at the rate of premium under Consequential loss (fire) policy.

7. FefeRea 3 9 fadl Wi wosdfra Rl i (3% % 4 37%)
31) o yles & Wi g
d) WA =FEEE 9}
q) A FHRE P
]) M S q°1 BT AT

7. Write short notes on any three :- 4 each
a)  Auditors fees clause
b) New Business clausg
¢)  OnAccount payment -
d) Lay off & Retrenchiment compensation

8. RO @Y (aifr) o 3 et st T € § 2 12

8. Whatarethe undemﬁting considerations on consequential loss (Fire) Insurance? . 12

9. U I 3 gL H/we AT W e s o W = HiR 12

9. Discuss condition of Average applicable to C/L insurance giving suitable 12
example.
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10. 5 wRRaf § ‘Fromie any Sowres & fyg sgant frs anfr 2 12

10. What are the circumstances when the ‘Departmental Clause’ will be useful to 12
the insured?




e cifmeRmater AG-S6
arfi T @

ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS

g ;3 He - [ 3w : 100

Time: 3 Hours] [Total Marks : 100

m&mwﬁ%waﬁqluwm% 16 ik ¥ fonwg wre arfrared -l 3 1 o
ol U v 12 s S €

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. 31t o el W e ‘R o w%‘?mﬁmmm
feroqufy ferRay
1. What are ‘Implied Conditions’ applicable to Fire Insurance Contracts” Write 16

short note on each one of them.

2. i) Trafefag afeel & mur W ey 39 g@ &) Tor 6 geR &3 ? : 8
Wyga  dwrothn ahswmmwmv ey afveaf

Haq 25,00,000 30,00,000 12,00,000

il 10,00,000 12,00,000 6,00,000

wish 10,00,000 3,00,000 2,00,000

A - 45,00,000 45,00,000 20,00,000
i) IR IR T AT Wewrqui wiferdt I W IeorE F gy IHH 4
e I VRl IR -

2. ) Howwill the claim payable work out for the following data? 8
Property Sum Insured Value at the time of loss = Amount of loss
Covered Rs.) . Rs.) (Rs.)

Building 25,00,000 30,00,000 '12,00,000
Machinery  10,00,000 12,00,000 A 6,00,000
Stock 10,00,000 3,00,000 . 2,00,000
Total : 45,00,000 45,00,000 20,00,000 ‘
) Name & state in your own words important policy condition applicable 4
for the above example.
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U Yo Felst uiferdll & vl Sueied ST qeT ATy S W 12
FTT |

Explain the cover and benefit available under Reinstatement value clause policy. 12

fr=ferfn s e e ik ; (S ¥ 4 3iF)
3) vt ‘
¥) T T foey
) JHIUT HT e

State the importance of : 4 each
a) Warranties

b) Waiver & Estobbel

¢) OnusofProof

ﬁﬁmwéﬁmmmmmaﬁmﬁmﬁw 12
HRTT |

Explain the steps to be taken by claims Dept on receipt of claim intimation. 12
WWamm%gaﬁmﬁxﬂmﬁﬁﬁéwaﬁm| 12
Describe the terrorism cover apd limits of Insurance for Terrorism. 12
aﬁqmmﬁg@%ﬁwﬁﬁwwéwml 12
Broadly outline the salient features of'a Fire Declaration Policy. 12

%) dimehal & Qe W IR o @ @ g B 29 (IRF F 6 31F)
a) St e wfoared & s 6 Al w1 Rier R YR S S
21

a) Whatisthe effect of ¢ lumtatxon condition on the liability of the Insurer? ~ 6 each

b) How is the principle of ‘Onus of proof” applicable in fire insurance
contracts?

T E




: 3 - AG -56
9. B % Neer B W & AR A e BRI 1 12
9. Describe the duties of Surveyor for assessment of loss. 12
10. “efergfef st wm ffrer wRdiaredt & frvemd= &6 8. TweET | 12
10. “Extentof indeinnity is subject to various limitations.” Explain. o 12 .

----- U -----
——END —
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T e R AG-57
3T 3wyt i &ftar

ASSOCIATESHIP EXAMINATION
FIRE & CONSFQULN TIAL LOSS INSURANCE

T ;3 e | |&e 3t : 100
Time: 3 Hours| . [ Total Marks : 100
%aﬁmwﬁ%w%qum%wm%mugmﬁmﬁm%n
wwmmlzw%%l

NOCITT

compuvlsony All olhcr questions carry 12 marks cach.

" Mark
1 U S R e R % sty Pefofan i § de sl 16y
ar it & o i

afar afy - B AT
T - ® 2.00 ¥ &SR _.
(T wrE )
85
440

70

100

g ey &
eI L
200

150

215

450

300

P41 954928221 =

e+ T o i it e o) s |

3
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Work out refund Premium undera Fire Stock Declaration Policy in the following 16
case:- : :
- Sum Insured - Rs. 4 crores
Rate - Rs.2.00 per mile,
Monthly Declarations - * Month = . - 'Declaration
f (Rs in lakhs).
. Jan 85
Feb 440
March _ 0
April 70
May 100
June - : o NoDeclaration
July No Declaration
Aug 200
Sept 150
Oct ) 215
Nov : - . 450
Dec o B 300

. N.B- Ignore Service charges in this casc.

: m%ﬁﬂhﬁmaﬁa@mﬁq%wmmm@aﬁﬁm 12

State contributory hazards of Firc arising out of *Construction of Buildings? 12
S iferdt & yorff W ot Rwee W w=f 9w | ‘ 12
Discuss the contents of operative clause of Firc Policy. 12
freferfign w s Rrufet fifae - (T4F ¥ 4 37%)
) GHe oA Y '

) e iR

q) WHF THINE

Write short Notes on:- ‘ A 4each

a)  Rate of Gross profit
b)  Annual Turnover
¢) Standard Turnover

37




| foraferfa vl 1 foraR @ 9ueRY
31) wgeaqul uRed i v
§) TEAET & I

Ixplain in detail the following conditions
a) Matenal Alteration Condition :
b)  Arbitration Condition

frffian et 9 ‘forgres afifm e’ (a)ﬁmmwm 12
100/70 % Tey “Hegror 2 i &l oA HIRY | ‘ :
e fraet i (SRe@ # eEfy) @ ® 55 9@
gfad T (4 T¥) . ®. 435 d@
3y g B (4 34 & 27af) . ® .18 @
r ofy » v 6.55@3

© Calculate Pure Burning cost (Rate) with following details & also calculate the 12
rate for ‘cover” with a factor 100/70. '
Gross Net Premium (4 years period) : Rs. 55 Lacks
Intimated claims (4 yrs) : Rs.4.35 Lacks
Incurred claims Losses (4 years period) : Rs.1.18Lacks
Sum Insured : Rs. 55 crores

; (I8F & 6 3F
) mﬁﬁamﬁg&@sﬁi@qﬁgmﬁ%m@?i; EICKUEt
T a) g wr e § aa wie aa g 2

a)  Give any six suggestions in respect of improvement of risk from the view - 6 cach
point of loss prevention.
b) Whatare the contents of an Acceptance cum Receipt

Formferfar W i Rt fifaa ; R E4 )
¥) g S
q) T HSSEc

T) IuEfiE




10.

10.

4 AG -57
Write short Notes on followings:- o 4 each
a) SilentRisk
b)  Spontancous combustion

¢)  Utilities , _
STl e o e o) g i a1 et A | 12
Mention the Salient features of Indian Fire Reinsurance Program. 12
T Wierel % sif Sverss R ws-of amweed @ v AR L 12
Enumerate various add-on périlé available under a Fire Policy. 12
..... TG ~=nmm
=emes END e
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 REI BT Tenemy
ASSOCIA TESHIP EXAMINATION
CARGO LOSS PRFVENTION »

qug ;3 Ee : : [t 3ieh - 100

Time: 3 Hours] , ' {Total Marks : 100

, mmm%wm \ vwm% 16 3ie & foreg T arforamed =t €1

At TR YT 12 3w H T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each. -

S ; ‘ .Mark,
@ W e B B T g e ¥ sl Sl w5 16
mwﬁﬁ@mwaﬁgﬂﬁ%@mmmaﬁm
Fa1 7

With a view to improving the deteriorating claims experience on containerised 16
cargo under an Open Cover 1ssued to a valued client, what measures would
“yourecommend?

Pt & wrRo . (w2 )
F) W%W%ﬁa@%ﬁw%aﬁﬁawwm%w
§ 58T 7 g 9o 99 @ S |
T) mmﬁm%mmﬁmmmmﬁm%
IR i R ¥ A F AR |
) @@ & el & SER, m%ﬁ%é’mwwmm,mﬁ
3TUT R, ams‘@zmmwmr@mmﬁqa
) ﬁ%wﬁéaﬁtmqa}haﬂwmmﬁqsﬁwﬁww
LiESE ,
-9 W@Wﬁmwﬁwmmwﬁmmaﬁqu ‘
 ®) B UReed & AN T W S R & wa g d |




2 : AG -61

Give reasons for the following : 2 each
a) The centre of gravity of the load shall be placed evenly between the sling’s

angle and as low as possible within that angle.
b) Sawdust which is used in packages to absorb leakage/drainage should be

used with care.
¢) Railway rules require that before a wagon is loaded, consignor should

stack the consignment on the loading platform.

d) The bilge should never bear the weight of the barrel itself or of the tier
above.

¢) Destacking/unstowing should always be done from the top.
f)  Liquid cargoes in air transit are subject to leakage hazard.
) 3

- R 3% TEH IR W TR, 1925%%@@%@@% 12
RrarRat == § ?

What are the basic responsibilities of the ocean carrier under Carriage of Goods 12.
by Sea Act 1925 ?

e = P ) T T 5 g A T E - (RwH63)
F) mﬁﬁmwﬁawﬂ%mﬁgﬁﬁ?ﬂml
w) TRl Sl B ga ?

What are the safe working practices governing : 6 each
a) theuse of slings in hoisting and lowering cargo ?
b) - theuse of mobile cranes ?

o O g T, 1963 ¥ sita 0 g ot Rreaelt o e & | 12
Explain the liability of the Port Trust under the Major Port Trust Act, 1963. 12

Ww%ﬁmﬁ@aﬁaﬁﬁﬁm%mﬁaﬁméﬁ
F) donde W & ¥ e (R & 6 i)
@) Rl W AR S

Describe what precautions would yoli suggest in following cases : 6 each
a) Stacking of bagged cargo
b) Loadarrangement on vehicles.




- 10.

10.

3 AG -61
(5% & 6 37%)

%) RGeS e 5 Sawms W i e - et ok B 49 o R |

) m-mﬁwﬁa-m%ﬁﬁémrﬁmﬁaﬁawﬁﬁmﬁaﬁ
ERET TATe |

a)  Describe cargo movements at ports

b)  Outline the services provided for the cargo owners and shipowners at
ports. .

6 each

%) T Rifefed & wed e & Wt e a0 (3% % 6 37%)

) AR g FRW ¥ Rre watawr dad wR a9

a)  Whatare the basic precautions for stacking of gas cylinders?
b) Whatare air cargo environment hazards in the aircraft? )

| “wmmmmmmm%@mmmw

Safhe ST 8 @ 172 AR W A 39w R g Aot s
v}zxﬁmﬁaﬁma’}twme}m%u

“Promptundamaged arrival of complete shipment at destination is the primary
objective of the shipper.”

- Suggest broadly the measures by which the shipper can be instrumental in

realising his objective.

6 each

12

12

PrfRer ™ W R e . | (7% % 4 37)

F) BER A (F2)

) T R A/

) e AT T 3w

Write short notes on the following :-
a) Fibreboard (carton) packing

b) - LASH (Lighter Aboard Ship)
¢) RO-RO(Rol on, Roll off)

4 each
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ASSOCIATESHIP EXAMINATION
COMMERCIAL GEOGRAPHY

g 5 3 He | , [T 37 : 100
Time: 3 Hours] [Total Marks : 100
WWM%WWWWW%M m%mwgaxﬁar&qﬁ%l

sl TR U 12 3R RE 1

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1. “ﬁé%ﬁawﬁﬁqﬁ%mwwwﬁaﬁwﬁ@waﬁéﬁ - 16
W%ﬁmﬁﬁ{au”sﬁmm%mﬁaﬂmm%maﬁ
R |

1. “No two countries have exactly the same resources, nor indeed is anyone 16
country self-sufficient.” In the light of this statement explain the basis of
international trade.

2. mmﬂwmm@%wﬂ%ﬁmmww 12
TE e ?

2. What are the major currents of the Atlantic Ocean and what effect do they 12
have on shipping? '

3. %) SOR-TRT AR IR E 7 (530 3 6 37F)
@) T e w09 6000 . . e, ﬁmﬂmquﬁ
§ oo TN IR 7
3. a) How are tides caused? ' ~ 6eadh

b) India has a coastline of nearly 6,000 Km., yet it does not have many
ports. What are the reasons?

43
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. meﬁgﬁa\sm%wwéﬁ?éﬁqﬁwéaﬂﬁ 12
THftieh eIt & 3 ) e Tad s et & 9

What are the causes of earthquakes and volcanic eruptions? 12
What are the locations most prone to these natural catastrophes?

frfefan & sitmifers sror ard - ' (5% & 3 37%)

%) fSieet & deeme # e geea {

@) g&aﬁmﬂmmwﬁumm@m@mé Ty =g =
qa d yd sga wer @ |

M) Wm%@ﬁwmmﬁmﬁ@mwﬁﬁétﬁé
W@ﬁﬁaﬂtwﬁwﬁaﬁt%wﬁﬂ%wﬁéﬁﬁw
AR RE |

) aﬁm%wﬁmmaﬂwvsm%x

Give geographical reasons for the following :

a)  Port of Gibraltor has strategic importance.

b)  The moon has over twice the tidal effect of the sun even though the
sun is much bigger than the moon.

¢) Those crossing the International Date Line have to change the date
forward if they are crossing from West to East and backwards if they
are crossing from East to West.
Panama Canal has an important place in America’s trade.

TR 4 & 3 35 71 e A 2 (3% & 6 37)
T o “Fafreer o & s (Reesfem)” a aved & 9

What is a Bill of Lading and what are its functions ?
Explain what is meant by "discounting a Bill of Exchange".

“ST 7 8 W % FECTE § - ¥q@ a9 e’ 3 H F uew § N uw
m@mﬁﬁmwﬁwm%?w%uﬁmww
WTF}WW@%WWI




10.

10.

3 AG -62 .

"There are two kinds of ports in India - major and minor" - What factors
distinguish a major port from a minor port ? Name all the major and any
five minor ports of India.

oo % T W i Al 1 STET S §Y, T YRTE TS % &9

# UF Tohelt Wi F ed Wush & TR ¥ WA & e % Al A
IS I IgarEH URTE Fed € 1 39 H S e |

"Multimodal transport is the carriage of goods from the premises of the
consignor to those of the consignee, by more than one mode of transport
and under a single contract, evidenced by a single transport document."
Explain this statement.

et 3 orer 3 e o g 3 Y o 9 ) R T 3 et ¥
FRUTEA € | 59 HUT Y ;S H |

“The inclination of the earth’s axis and ‘its motion round the sun cause
change of seasons.” Explain this statement.

12

12

12

fefeian W wire feul fordi - | ' (53 % 4 37F)

F) vare AftEm 1940

@) fapa ) O i e T

M) YT 9RY

Write short notes on the following :
a) Arbitration Act 1940

‘b) _Free on Board terms of sale

¢) Demise charter.

45
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ASSOCIATESHIP EXAMINATION
MARINE CLAUSES
g ;3 Ee [ 3iah : 100
Time: 3 Hours] [Total Marks : 100
fer=dt arre woal & e AT 1 werd wvA & 16 3fen § g g arfrard Al ¥
g At wedkes U 12 Awm R B

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
gaim ¥ 4 37)

mﬁwammm%m ‘forcta”

T) Tl ST W A N 3T > a1 YR o 4 foera
) et S af/a @ gEe 2 e |
) S g1 T ST HRT fers gt St fifewr Ry & BT gI

How will “delay” be treated under Institute Cargo Clauses in the following 4 each
circumstances :

a) Delay in course of transit

b) Delay in taking delivery after discharge of goods at destination port
Delay in notifying loss/damage to insurer
When proximate cause of loss is delay which is caused by an insured

peril?
(FAF & 6 37%)
TR Sl & soT T i IReeH Tiden & veel & Rl dawg St
T R T &1 ST @ e shfive et & 3aE, sigToT S U STt |
T g ¢ | sy 6 Prafiad & siwly g @9t @ 39 fiver smom
%) ¥fReege FRA Fela (), (&) e ()
W) (e 9r FASS (BT qo1 SR TR Fs (FIm) 2
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2 " AG 63

- An insured transit is frustrated at a port or place short of destinationas.a 6 each

result of the operation of risks covered, and expenses are incurred in
unloading, storing and reforwarding the insured goods to destination.
Explain how these expenses will be treated under -

a) Institute Cargo Clauses (A), (B) and (C) .
b) Institute War Clauses (Cargo) and Institute Strikes Clauses (Cargo)?

Mmmﬁa-ml.lo.sﬁmﬁaaﬁﬁwﬁrﬁmW% 12
1 ed ST T&d: & 9AIe 8 gear e 7

Under Institute Time Clauses - Hulls 1.10.83 what are the various 12
circumstances under which cover can terminate automatically?

o ST 5 T P o e ¥4 )
%) U AN
@) YU s FUR
) Wieds B
_ Briefly explain with an example, the following : ' 4 each

a) Salvage Charges
b) Sue and Labour Charges.
¢) Salvage Loss

ST TR (/Fes) Faiss T, & W F siwla e w9 12
T 1 e T B g ?

When does the risk attach and terminate under Inland Transit (Rail/Road) 12
Clauses *A’, ‘B’ and ‘C* ?

% F09-9g- 3w s iferdt & sierta smaRa Sifgw qur stuasHl &1 12
FuiT H |

Describe the risks covered and exclusions under Marine-cum-Erection 12
Insurance Policy. ‘

w7




10.

10.

' 3 AG -63

BT e g Wt % i 3 fover-g @ e el wEdw et 12
R

12

Briefly discuss the clauses concerning the Scope of Cover for insurance
of Diamonds and Precious Stones.

SR T SIS B 1.10.83 % dwa WS 7Y wyuf af o svifkes et
& forw axfergfef @t o 9 o) W & 9

12

12

Under Institute Time Clauses - Freight 1.10.83 how is indemnity for total
and for partial loss of freight calculated? )

. 12
e wew offae aiie 1.12.83 % e N o= A % FO7 A
T SR ST % S et & ST srgra) ohr I &) ST & 1 e

& 3 B FQ AR frar s 2 5

A tanker with cargo of crude oil insured under Institute Bulk Oil C_lauses
1.12.83 is involved in an accidental spill while discharging. Explain how
the claim for shortage will be adjusted?

(909 % 4 37%)
fifaien W e fwof fafae -
%) RS Sl (3eN) equeH Fells
) (RZege Rwrwde (ftrerm) Feifs
M) ¥R F0 FAST 7 S-afra/emtheNd (exoramy)
UG STTTT FeATS |

4 each
Write short notes on the following :

a) Institute Dual Valuation Clause
b) Institute Replacement Clause

¢) Unseaworthiness/Unfitness Exclusion Clause of Institute Cargo
Clauses.
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Now:l;li;oglz, 2009 . &
. T ST 3feR

~ ASSOCIATESHIP EXAMINATION
MARINE UNDERWRITING

wE3u ) . [t 3t : 100
Time: 3 Hours] [Total Marks : 100
Tt arme Wl & were SRTT | o e & 16 3 § e T arfvare i @1
A AW TR YT 12 3wH H E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

_ o Marks -
1. Tt i sl Shfaw 1 st @t et sl 3 forg R el B 16
T e Hecaul A 7
1. What facts would you consider as material and important to an undcrwnter 16

assessing a marine cargo risk?

2. A% Y T S € S Qb v 3 fore o Frafeor s 0 § 7 12

2. What are the main factors which help determine the rate for hull insuranée? 12
3. W den W S & gad § wordam & @ seraead g7 12
3. What are the requirements of seaworthiness in relation to insurance of 12
cargo and hulls?
: (m & 6 3i%)
4, %) IRESE GRS (FRON) F Fed 0T S 37af & fomiy wed &

SR SR ¥ STV TN FAE H e H |
@) Fed dcl o arel SR i - Sieh garet fretvad s € 2

4. a) Explain the purpose and effect of the Waterborne Agreement with 6 each
particular reference to the Duration of cover under Institute War Clauses
(Cargo).
b) Whatare the underwriting features of crude oil tankers?
: 49
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‘Torse fod sEfTR A & g0 SR Y B wwened & gl 12
fopa S @ W 39 9 frger ST R 2

What trading problems are anticipated by “Sellers” Interest Contingency 12
Insurance” and how are these dealt with?

(% & 4 30%)
ﬁmﬁmﬁmﬁmms@aﬁ/&aﬁéﬁﬁwﬂmaﬂh foreta: :
T AT W SN 2 g b A e R sk st 3 fofa

& mf T wad € aﬁﬁwﬁiiﬁmmé}m%@&wmm"

F) SR Al

T) FA9

) HEH & IH

Describe the nature of the following cargo and its susceptibility to loss/ 4 each
damage with particular emphasis on how these various features might
influence your underwriting judgment, if such a risk were to be offered to

. youfor insurance:-

a) Canned goods

b) Cotton

¢) - Coffee beans

mmﬁ%@%ﬁw‘maﬁmmﬁéﬁ’m%mﬁml 12

Explain the effect of the “Notice of Claim and Tenders” Clause on hull claims 12
costs.

Prafeiian & m Far qHen § 2 ‘ (3% 35 3 30)
%) Aa T

@) Rt Fit

M) e A

u) I ¥% qe Tl




8.

10.

10.

3 AG -65
What do you understand by :- 3each
a) Label Clause
b) Pickings Clause
¢) Garbling Clause
d) Pair and set clause

Hayy ¥ wwees ;- (% & 6 3F)
%) XA GrEmgE
) g daad ﬁﬁqﬁamﬁ%mm@ﬁm%mm

A T FE |

Explain briefly:- ’ ) , 6 each
a) Documentary frauds
b) Steps to be taken by ship owners/Charterers to control maritime

frauds.

frrfeen W wftra fRwft faf - (FIAF F 3 )
%) forafen somm

@) =i difrE & s e

M IF FAM

) IIEE wawur gRe

Write short notes on :- - 3each
a) = Deferred Repairs

b) Re-instatement under Annual policies

¢) Deck Cargo

d) Lyods’Survey Handbook.
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS
Y ;3w | o ‘ ‘ &t 3ieh : 100
Time: 3 Hours] b ’ [Total Marks : 100
formalt a1re wostt o e SR | worw wew 3 16 3 & ey T rfrad T &
3 At U W 12 SR R

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. Marks
L e . 9. (9) vl R i 37 < gt 1 e R R @ g den 16

TAT AT | RO H I Y 200 TS ot N GAR G o e ) oA | S A

®. 15,00,000 % fere g1

- W@Wﬁw%ﬁmwm%ma@m@mﬂ@
giaus g1 7S |

T T a S W g |0 it 1,350 f6. 711, fiepen @ €. 50
gfer . . ﬁatﬁmﬁrgéaaﬁgwmﬁa 110 wfa f. .
forer |
ﬁﬁmwmmwwns%w.m%qﬁaﬁmmﬁw
. TIiSH B FS 23,688 {6, T ga.
- Toshar oI, 600 T WO Yk &, 750 © |

fren wifereht 3 it ST A T ) o |

A consignment of wool in bales was shipped from Sydney to Mumbai

and was insured on ICC (A) terms. The consignment consisted of 200

bales of wool, all of equal weight and value and insured for Rs. 15,00,000.

- During the voyage from Sydney to Mumbai, 10 bales were damaged
by seawater following heavy weather.

- Onbeingsold at destination these 10 bales weighed 1,350 Kgs. And
realised Rs. 50 per Kg. as against Rs. 110 per Kg. if sound.
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2 AG -66
- When dispatched each bale weighed 125 Kg. but on arrival 188 bales
sound weighed 23,688 Kgs.
- Sale charges were Rs. 600 and Survey fees Rs. 750

Work out the claim payabie under the insurance policy.

(na}tf»% 4 i)
m%mﬁmmmmmmﬁmw
%) wfoeefia =g '
) TidelE W ST R
) TS W TR e S N e @ @A |

Explain the provisions of York-Antwerp Rules, 1974 regardmg - 4 each
~a) Substituted Expenses

b) Extinguishing fire on shipboard.

c) Contributory value of freight when the vessel is carrying cargo.

Teg & frefafen 3 ror aan ; (3% & 3 3i%)
&) @memqﬁﬁl

®) yolm S e % a3 fre 9w ydad! v @ R S

Siferer forwar-ag § 79 R b1 o St & T H R

) I A 3T Bt e Pt s wee At 59 99 W ge § 98
2 o e v Y e ot S, e fonelY e ot et R R o

) foreht el oh w3 St R & < 1 e U eraifed SiRaw
2 91 59 W WregrEds frEm g s Ry |

Briefly give reasons for the following:- ' : ~ 3each
a). ADuty Policy is not a value :d policy.
b) Itis a condition precedent to a claim for constructive total loss that
the assured abandons to the insurer his interest in the subject-matter
insured.
c) To determine partial loss of cargo, underwriters insist on a compari-
son of GROSS values, that is withcut deduction of any charges.
d) A cargo proposal to insure “tail-end” of a transit is an undesirable
risk, and needs to be considered with caution.
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e it saren = . (5T & 6 37F)
%) Wl S a9 O i gan @ |
@) et q Ei e AT et gan e o

Explain the following:- 6 each
a) Constructive total loss when ship is damaged.
b) Constructive total loss when goods are damaged.

(DB & 4 3F)
Wiﬁ&fﬁﬁmww%m%wﬁiﬂaaﬁaﬂmmaﬁm
e
) feredt ot 5t &y f & R 7
§) g a9 At A % R ?

M) WifeTs P SR & W A T T T & oI ?

Under the provision of Indian Railways Act, 1989 what is the extent of 4 each
monetary liability of the Railways, ‘
a) for loss or damage to any consignment?

b) for goods carried in open wagons?

c) for goods carried at owners’ risk rate?

T TEI % e H S-S & @ar § 4 e smr d 7 12
How are dry-doCking expenses treated in the assessment of hull claims? 12

@ e e TR | o ey 9 T gam%aﬁta‘aaﬁ 12
o Bt 8 S @ .
- W W R e e @ N T 60% T G B 40%
At e AR |
- 9 T %, 40,00,000 T et % Rre A & St s gE
TR e § |

Prefefae gt gt & -




4
ﬁﬂ' c.qr
_ .,
- T A vl = afy 40,00,000
- oo e -
- Fmal - 60,00,000
- Ul @ Hie 80,000

- WUITRREA @I TAHTE 60,000

e ‘el
w,
70,00,000
12,00,000
18,00,000
75,000

AG -66

A Rl o O X ol A ) <o R @ 1 o T oW

MR HT arelt wiferd & dga =@ 3% TE ST |

Vessel ‘A’ collides with vessel ‘B’ as a result of which, vessel ‘A’ sinks 12 -

and becomes a total loss.

- Vessel ‘B’ sustains severe damage. Vessel ‘A’ is held 60% and vessel

‘B’ 40% to blame,

- Vessel ‘A’ is insured for Rs. 40,00,000, so valued, which is its sound

market value.

Following losses arise:-
’ Vessel ‘A’
Rs.
Damage to hull and machinery 40,00,000
Demurrage ) —_
Cargo Damage 60,00,000
Injury to crew 80,000

Expenses for removing and destroying wreck 60,000
of vessel ‘A

Vessel ‘B’
Rs.

70,00,000
12,00,000
18,00,000

"75,000

Neither vessel limits liability. Work out the claim under the policy covering

vessel ‘A’.

] 8 T e el % il PrefaT & i 8RR
(0% F 6 3F)

&t oY e = Al
%) &R
) e -
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What is the measure of indemnity for particular average for the following, under 6 each
applicable Institute Clauses?
a) Cargo
b) - Ship

,mﬁmmwmm%mmﬁww
s ; (W%é?ﬁ&?)‘v
%) Yoo A

@) s ge aftar ?

What is the measure of indemnity under a cargo policy covering the 6 each
following:-

a) Duty Insurance

b) Increased Value Insurance?

. Frfofi w e fowoh fafge «-
%) TEH e a

T) afaRed xR

M TR F T

. Write short notes on the following:-
a) Time Penalty Clause

b) Extra Charges

¢) Removal Expenses.
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE

T ;3 ue | » (et i : 100
Time: 3 Hours] " [Total Marks : 100
et aTs Ut S ST SR 1 v e & 16 37 € g g stfvard Al ¥
arr weft U U 12 STE K E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
" compulsory. All other questions carry 12 marks each.

' Mark
L %) wmﬁfﬁ@mmEmWﬁSWMﬁ “To

Tl & ol e 3u% S % SR § wene Aif @ 1 T wiew aad
3% 31 RFT WK & STERv & Fellg an 94 :

) a1 9 F ued e Waer Rdr e |
i) ot e & siakeir Srewdy § we 9 @ | |
T) w@ﬁs@ﬁﬂm%mwﬁﬁﬂww%ﬁw 6
g e ?

1. a) A ship-owner has purchased a second-hand Mechanized Barge forRs.5 10
crores and seeks your advice on Insurance of the same. Explain with
reasons the types of cover you would advise when:

i)  the Barge intends to ply on West Coast of India;
i)  the Barge intends to ply in Goa inland waters.

! b) Explain why valuation of ship is important to a Hull Underwriter? 6
i\ hd - d ) >
2. CHASE % WIS qd1 g il o AR H | 12
2.  Explain the Organization of Llayds and its functions. ' 12
3. gaw ¥ et sfeafyaal o e = (5 % 3 3)
F) SfeHA ~
@) e (fem) i
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) FRER Ff
¥) 9% % W 9 AR 9y

Briefly explain the following terms:- ' - 3each
a) Jettison

b) - SlingLoss

¢) - Trade Ullage

d)  Washing Overboard

@W'W%mﬁmmwwwﬁg&ﬁ%mmﬁ 12
I FT HeTE 3 9

Asa Cargo Underwiter, what advice would you give to shippers with a view to 12
improving adverse claims experience?

(5T & 6 3i%)
%) “qﬁwéﬁmﬁﬁﬁmwu{ma‘sﬁwﬁmaﬂmﬁﬁél”m
fevquft & |
@) qﬂ?mﬁméﬁwmwmﬁﬁaw&ﬁﬁm
o |

2} “The contract of Marine Insurance is based on the principle of utmost 6 each
good faith.” Give your comments,
5)  Explain Express and implied warrantics applicable to marine Insurance,

@é@mﬁwmw’wmﬁﬁmﬁwﬁaﬂ%\z? 12
What precautions should be observed when stowing cargo in a container? 12 /

@Wﬁaﬂmmwmé?mmwmm 12
mﬁmmmwaﬁﬁ: /

Why does a Marine Underwriter scek Re-insurance? Discuss the utility and /12
urpose of Surplus Treaty and Excess of Loss Reinsurance,
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8. ‘HROM & forelt R wrw A W e v T ) e w12

8.  Explain with example the claim Payable on “Total Loss qf Part of Cargo.” 12
0. WY el 9 & T e i § 7 12
9. What are the main provisions of Tea Crop Insurance? 12
10. H@I‘R’Tﬁmﬂﬁfﬁg‘l— (m%43ﬁﬁ)
%) FHET HNERE
@) TEEs 9
) fRed FuR
10. Write short Notes on:- ’ 4 each

a) Classification Societies
b) Documentary Credit
c) ExtraCharges

weeeee THE END -emev
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ASSOCIATESHIP EXAMINATION
AGRICULTURAL INSURANCE
HAY ;3 He (& 37 : 100
Time: 3 Hours] [Total Marks : 100
ot s Wt & Ieert T | wor wee 3 16 m%%ﬂaﬁaﬁqﬂ% |
g aeft uedm wv 12 srw H

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks cach.

I3 @frwoogésamn@wwaﬁw%mmﬁaﬁaﬁmmﬁ
T e # Qfreriies deER 2001 7 2007 (@hw) ¥ st {
frEr 2
JeTER (RARTIR) 2007 2006 2005 2004 2003 2002 2001
TR 1200 1340 890 1510 1040 350 1325
EICKl 3100 3215 2517 2990 1950 1150 3100

i) amﬂmﬁmuaﬁmﬂ%mﬁgqﬁwmwamw
&/FES H Teaw Sifew R By Sifaw’ # s St
Fh HIR | :

i) @ R T (AR @) 98 Ad g # @l 2008 % 2RH
Trheft i AR TaraR 750 fR/AaRsR Tor ae & 2520
feran/eRar St #t faft uf¥r &. 1525 @ra @91 ®. 5100 @rg
Yrhelt SR wTEe & R s W SR |

TYE B AT W T S R frfaw |

In an Arca covered under National Agricultural Insurance Scheme
(NAIS)during Kharif 2008, the historical yields for Ground nut and Rice
between 2001 and2007 (kharif) are as follows:

Yield(Kg/ha) © 2007 2006 2005 2004 2003 2002 2001
GroundNut = 1200 1340 890 1510 1040 350 1325
Rice 3100 3215 2517 2990 1950 1150 3100

Marks
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) Calculate the Threshold yicld assuming Groundnut and Rice areas/
crops are classified as “Medium Risk” and ‘Low Risk’, respectively.

1) Calculate the claims (if payable), assuming the Actual yield during
kharif 2008 of 750 kg/ha. For Ground nut and 2520 kg/ha for Rice
onasum insured of Rs. 1525 lakhs and Rs. 5100 lakhs for Ground
nutand Rice, respectively.

b)  Write a short note about Livestock census.

6

4

Fferfen = e dmr Ao (a1 & wad § o iR | (5 & 3 3i)

i) fowr

i) =R e
i) sERa ey
iv) g 9

Describe the following with respect to poultry Insurance Scheme (MA)
) Scope

i) - No Claims Discount

iil) - Risks Covered

iv) Age Group

S AT ¥ SR G e f Srer-aren R 5 8 G d 1
STAT- ST Yl HESt & e yeri o ==t S |

Crop Insurance may be of different types according to criteria used. Discuss
the various types using different criteria.

3 each

12

3 wrftarter & g gt @ W Refaw - (H@?%Z?ﬁ'éﬁ)

D P S aRa F Fer frar @

i) FEge N daRal w e e @

iii) ST @ § arefnk @

iv) P Sifml & ggfy wdT §)

v R a7 e v iR g a d )

v ?ﬁmm%@ﬁﬁwmwﬁm?ﬁww%
T R e @R § 1 :
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Write “yes’ or ‘no’ with proper explanation 2 each
) Agriculture insurance has great scope in India. ’
1)  Control of poultry discases is casy
i) Indiais self sufficient in food grains
1)  Agricultural risks are independent in nature.
v)  Tympanitis is a serious infectious disease of cattle.
vi)  Agriculture Insurance Company is a specialty insurer created to focus
exclusively on agriculture and allied sectors.

@ﬁﬁﬂaﬁwﬁ%mmmmmﬁ% | §9 HYT HI
HEE S W I g # e i e ww @R )

“Crop insurance is not a panacca for the problems of agricultural sector.” Explain 12
this statement in the light of problems associated with Crop Insurance.

Teredt ot W wiRna Rroforart ferfarg - (7% % 4 37%)
) WG 7 B S WG F W e

@) ol

%) Hust dim

g) 3ften dm

Write short notes on-any three:-

a)  Agriculture isa *gamble with monsoon’ in India.
b)  Shrimp Insurance

¢) HutInsurance

d) Hail Insurance

wﬁmwﬁﬁﬁﬁmaﬁwaﬂmnﬁ%lﬁﬁaw% 12
faftr we=m faftral &1 frdemr iR |

“Identification of insured animals is an important aspect of the cattle insurance 12
business.” Elucidate with reference to various methods of identification of insured -
cattle.




10.

10.

4 AG -71
(T & 6 35F)
37) Sorlt 3T ¥ forre F usfia e e A & it W SR |
3) U e e Y & w@ e whd @ 2

a) Explainthe rdle of National Dairy Development Board indevelopmentof 6 each

dairy industry.
b) Whatare the main functions of NDDB ?

Tt ©: & witre avi & Ty freaia &9 Rifay - (5 % 1Y 37%)

Give Long forms of any six with a short description : v - 1% ecach
) e R ROR

i) T ww . © MSP

i) T§ T U SAA

iv) . 9t omE. 9. FCIC

vy W d®.  NSC

vi) €. . w9 DLMC

Vi) TE. & . 3. SASA

vit) 3T, Tm. €. " IMD

foram S wdie st oiferdt % wraEE v (3 & 2 3i)
F) AT §F , @) i oy

) S HE §) T A A

9) R BT - ®) @ uhE

& gt § geoiE AT |

State the provisions of Kissan Agricultural Pump-set Insurance Policy with 2 each
respect to: :

a) Scope of cover

b) SumInsured

¢)  Premium Structure

d) - NoClaim Discount

¢) Long Term Discount

f) Claim Procedure
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ASSOCIATESHIP EXAMINATION
MOTOR INSURANCE
g 3 Ee | ' [ of&R : 100
Time: 3 Hours] [Total Marks : 100
ot 15 wvAl 3 e R | werw ueE ¥ 16 97 ¥ faeg T et T
Al TR U 12 e R

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark
et e aret 3 st o Ay Rro d dh B el B 16

.‘mwwﬂﬁql

Suggest the loss control measures to the Insurance company to reduce the
outgo under T.P. Liability claims.

SERT 9T % e Rl o yaR A dm A e 7 12

How are the fundamental principles of General Insurance applic;':\ble to 12
Motor Insurance.

(IRF & 4 37F)
e & 3 s # Suis gae FrafRad FR F1 e GHIE -
) SR Y
ii) &N YHR o HiA
iii) uRerem &

Write about the importance of following underwritings factors in motor 4 each
insurance.

i)  Age of the driver

i) Make & Model of the car

ili) Area of operation




2 . AG-72
(TE & 6 3F)
:) fAsT R & T Gohe Wl & g - 1% il smaRe st @
g HT |
ii) Wﬁ%ﬁqm%wmmaﬁ%whaﬁaﬁ%mﬁ
Nﬁﬁﬂmml

0 Llst out the perils covered under Section I of the standard package policy 6 each
for a private car.

i) Mention important exclusions provided under Gencral exclusions of Two
wheelers package policy.

mwm(ﬁé?ﬁm (¥R % 4 37%)
) fRIsr '

i) W ow ..

i) i & frar

iv) SIfER enfee

v) 9 89

Write short notes (Any three) 4 each
) - Vintage cars

i) MACT

i) Extension of Geographical Area

iv)  Compulsory Excess

v)  Public Place

i 7Tl & aR # forryds fof fifae | ' 12
Write a detailed note on Lok Adalats. o 12
YT 3R T I (1S Fi=) - (I & 4 37)

) RS RIS aur Hidew A

i) e weleeT e qARiRer wdgr

i) fafere aft qur e fy

iv) ﬂéﬁﬁgwaﬁlﬁwmmmﬁﬁ%@mﬁaﬁ
TR ST
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3
Distinguish between (Any threce) :-
Stage carriage & Contract carriage
Spot Survey & Reinspection Survey
‘Special Damages & General Damages
Schedule of Depreciation for I.D.V & Scheduie of Depreciation on
parts for partial loss claims

(I & 6 3iF)

freffad 8 SR W s T el sEivgh 3 smen AR ;
%) SIAIERE 1 A § Fay w5 @ e s
) e o

Explain the procedure generally followed in
a) Cancellation of insurance policy by Insured
b) Transfer of vehicle

HTeraTESh TS At o dobet wiferdt & sfarta w-aif <@l &1 Frem
H GHT HH-H § TEEST A O TSl § | I0F A H e

&Y § §EET |

Which documents are required while settling own damage claims under
package policy for goods carrying commercial vehicles. Briefly explain
the importance of each.

. WRAT F-3E S A w. 2,00,000, A 2004 AT & S R |
ST =7 frergem § .

i) o9 INR « 12,000/~
i) fd=ehi T/ wfteen ' 3,000/~
iii) foewhi v /Y Wicle qur W % 800/-
iv) 36 S fawRreT (wfiees i &) 1,200/-
v) S g 4,000/-
vi) Fele/dSH g 900/-
vii) Weuet vl wfeemm . R 3,000/

(e T S A §)

12




10.

i

| 4 AG -T2
afrard sl 3 fRad . 1,000 T ST o T4 2 | FE
A%, 9,000 & 1 Fror B R, WWH&WW%

e i TR RIS |

Private car- IDV Rs. 2,00,000/- model 2004 met with an accident.

Estimated expenses are as under:- Rs.
Labour charges 12,000/~

ii) Replacement of w/s Glass 3,000/-

iti) Sealant & Rubber frame for w/s Glass - 800/-

iv) Replacement of I'ront Bumper 1,200/-
(Plastic make) , , '

v) Replacement of Bonnet 4,000/~

vi) Replacement of coolant/engine oil 900/-

vii) Replacement of Radiator Assembly ' 3,000/-
(allowed repair only)

" Imposed excess of Rs. 1 ,000/- in addition to compulsory excess. Surveyor

has assessed the labour for Rs.9,000/- which includes the repair of radiator.
Calculate the liability.
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eaferITTer gefenT, sfurl wd ferferer sftar
- ASSOCIATESHIP EXAMINATION
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS
INSURANCE ,

T ;3 E [ i : 100
Time: 3 Hours) [ Total Marks : 100
Ten=l 21Te WAt & S R | e e % 16 37 § g Ty st Tl
A A YRS YIT 12 R H |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks cach.

Marks
AfFT e dm &t Sy # o Prafales 9w gl S g s 16
fofau | ‘
&) wfagfd
) IHIEH
m) o fRa

Write briefly in the applicability of the following principles of Insurance
to a contract of Personal Accident Insurance

a) Indemnity

b) Contribution

¢) Insurable Interest

BRI T Aiferel st weerqul Risryaneiie oo v 9 @ @i g A
e e st w1 gufa iR |

Describe the important features of shopkeeper’s Insurance policy & various 12
covers it offers to buyers of this policy.

FrrafeRan Summd sfm weeor yerie Gy 3§ aofr R 1 (o % 4 o)
i) el wiferd
i) 3R uiferd
i) ¥emRI oiferdt
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2 : AG -73
Brietly describe the following types of Burglary insurance covers 4 each
i) Declaration Policy
ii) Floater Policy
iti) Tirst loss Policy

aiftifsaes frvawaar TR S e e i % He 3 T i 12

Distinguish between commercial fidelity guarantee insurance and the Court 12
Bonds.

e i A SR A o el MR S wr A wam e g 7 12
mw%ﬁmmmﬁw:

Why Reinsurance is deemed as one of the important activities of an 12
Insurance company? Write in somc detail about the different types of
reinsurance arrangements. '

) T AR B R § ey 8 T Ry amn fim R ¥ 4
T)  forer g for wiferd & Rafehean qen yearad @ue & TR g S 8

a)  What is the cligibility criteria for availing Videsh Yatra Mitra policy 4
for a person who is going abroad for holiday purpose.
b) Whatare the covered expenses under Medical & Repatriation section 8

of Videsh yatra Mitra policy.

Az i % day # Fraffed S we SN : (3 & 4 37%)
i) STaTEE STy

i) fRee quq v

i) S e

In relation to the mediclaim Insurance explain the following: - 4cach

i) Domiciliary Hospitalisation
i) FExtra free benefits
i) Maternity benefit
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3
Tl ofter o wiftre Rroaoft iR -
i) el it dir - Sifgy affaor
ii) feremdf gen
i) @ T &
iv) SNecdS At & S o afy @
v) e Afeae i ¥ Sg-ae geheu

Writc short notes on any three of the following:

i) Jewellers Block Insurance -- risk classification

ii) Student Safety insurance

iii) Plate glass insurance

iv) Loss of Baggage cover in Overseas mediclaim Insurance
v) Bonus-Malus concept in mediclaim Group insurance

31) o <t uiferedt § 2 o R S S E 2
q) o S uiferet o TuasiHie! FaRyT |

a) Why two amounts are mentioned in Money Insurance policy?
b) State the exclusions of Money Insurance Policy.

. e =t wiferdt 3 faftrer sruasll &7 (e qo W] Sifaw % e
Ui HRT |

. Mention the various exclusions (other than war and nuclear risks) under
Jewellers Block Policy. ‘

N ) N ) J—
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ASSOCIATESHIP EXAMINATION
LIABILITY INSURANCE

wug ;3 6 )  [@e 3t 100
Time: 3 Hours] - {Total Marks : 100
ol 31Te WAl o e AT | worm w16 oiwk ¥ g T erframd T €1
s Aol weleh v 12 3w R

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

—Mark
1. It et e diferdt e gust < Fafvor ol St wRan swa Y

HifTT |

1. Give an outline of the Compulsory Public liability Policy and its rating 16
system.

2. CIRETRY % AT e e et I S U1 E W go vl 6t 12

qge
3 7l 1 e F §U I W T |

2. "A civil action for Negligence can be sustained only when certain 12
conditions are satisfied”. o
Enumerate and explain the conditions.

, (T F 6 )
) U iRl @ Pl o Seera St Res wfa ufral & e @
freBrd ‘et edl” 3 for foiferss v @ el @ g € |
@) Ry & sl o el % simld B rvastHiET s
HRCI-

(W3]

3. a) Mention the persons or bodies to whom Directors and Officers of 6 each
Companies can be legally liable for ‘wrongful acts'
b) Mention six exclusions under Directors' and Officers Liability policy.
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| 2
4, mmm(m)mﬁmmm%mmw
ﬁm%ﬁaﬁﬁaﬁ%ﬂwﬁaélﬁwmmwaﬁ?ﬂ?:

3) Sifew gyg -4
q) IR efergfif =% <y - E I HTUSAMY
- w2 FIT A3 AR
W) UATHUSA A g - (28
g) THeleR - i) ®. 75 g 9Rd

- i) ®. 5 0T g TH T/ FHAreT
- ) F 7T M@ Gy

@) g 0.09 %o (3 &)

Y T e e E -
Aufy TR
i) (9 T 3K Fr=) 15
i) (30 ¥4 < 3w 5

ii) (m%mﬁrﬁﬁzaﬁﬁﬂ@‘lémﬂﬂ@a%) 2
) TN TR R A I F fore forar e e RrefRen 51 80%

T 3T ot FY e 200 g R i | st &, 35025 +%. 200
TR 250 TG QA 21 T TG W SR B TR R 1.25%0
mméwmmmmwmﬁ‘ﬂmé,
%mmﬁmaﬁmma

4. M/s Clariant Machines (India) Limited has submitted proposal for Products
Liability Insurance including Exports. Information submitted is as below:-
a) Risk Group . . -4 )
- b)  Limit of Indemnity required - Rs. 1 Crore AOA
' - - Rs. 2 Crores AQY
¢) Ratioe AOA to AOY is - 1:2
d) Tumover - 1) Rs. 75 crores Indian
ii) Rs. 5 Crores USA/CANADA
iii) Rs. 7 crores OECD Countries
iv) Rs. 10 crores Non-OECD Countries.
e) Basic rate is - 0.09 %o (per mille)
72 :
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3 AG-74
f) Multiplier are as below : ’ : ‘
Category Multiplier

I  (USA and CANADA) 15
II (OECD Countries) 5

III  (Other Countries including Non- OECD Countnes) 2
g) Forratio AOA to AOY 1:2 premium charged is 80% of the following :
Limit AOY exceeding Rs. 200 lacs | Rate/Premium Rs. 35025 +
but not exceeding Rs. 250 lacs 1.25%o on the amount in excess
of Rs. 200 lacs.
Calculate the premium based on above information for Products Liability
Policy Including Exports.

5. mﬁmﬁq%mﬁmﬁaﬁiﬁ%maﬂmmwﬁmw '12

ferar e 2 |
5. Explain in detail how the Principle of Indemnity is strictly observed in 12
Liability Insurances.
(m % 6 3i®)
6. H) Bical & forw s Jam wiiert & simia Wit o Frafcor s
F ERET FHA HIT |
q) 3o uiferdl & sfaia eifoRed diftem W Syersy G frerl 1 3@
HIFSC |
6. a) Give an outline of the premium rating process under public liability 6 each
policy for hotel. , ,
b) Mention the extentions of cover under this policy available at extra
premium.
7. Todl It W 9Rre fewfiraf fafae (3AF & 4 37F)
31) qequ g & e .

q)  <USESE afaal
q) ATRaETe! % fore fafes gean
3) IHeER N AEE & e fidiue Y 2
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Write short notes on any three : .

a)  Thelaw ofabsolute liability

b) Punitive Damages

¢) Legal defences for negligence

'd) Principal's liability for negligence of Contractors.

mgmm%mmmmmwu

What is the Scope of Cover under Workmen's Compensation Policy 7

- SRR St < ST WA S (sheifr) d ot % st
-Wmﬁmmﬁaﬁwﬁam%mﬁwﬁammm%sﬁ
ﬁsuﬁﬁmmaﬁhsﬁ%lmmaﬁaamﬁaammaﬁ

Frafeifen sRem fareart @t o iR -

3T)  FHT HEoT

¥) URegT Ty

"On Payment of additional premium, the basic coverage under the Public
Liability (Industrial) Insurance Policy can be extended to include liabilities
which are excluded by the Policy. Appropriate extra endorsement are
attached to the Policy" ‘

Explain the following extentions of coverage :-

a) Pollution Coverage .
b) Transportation Coverage.

0. Hﬁaﬁmmsﬁf@wmmﬁﬁmﬁ@q%@m?ﬂﬁaﬁ%mﬁa
SR Fa 3 S 2, 37 IeeE SR |

. Mention the headings under which information is provided in the Public
Liability Risk Assessment form for purposes of underwriting.
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ASSOCIATESHIP EXAMINATION
ENGINEERING INSURANCE

T 36 | [eT 3¥eh : 100
Time: 3 Hours] [Total Marks : 100
ol 318 WAl & St SR | e uve o 16 ik ¥ feneg T arframed ol 1
s afi R g 12 SR kR €

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

, . Marks
1. gl SUehul ey & e Suci SeRUl o FREr T HT 16

1. Give an outlinc of the covers under Electronic Equipment insurance. 16

2. Tl S SiRaw R darsEe frdeor Rue & s war @ | 12
R 7 et o 3 arch s 8 ez T

2. Acceptance of Machinery Insurance risks arc subject to satisfactory 12
Inspection Report. List out items of information included in the Report .

3. €U R AT ’Y 2avT i Heell SR 3 oy s Sifsrg| 12

3. Describe in detail Underwriting information required for EAR Insurance. 12
4, @Al | g ae A % R § TR | 12
4. What are the advantages and benefits derived from site monitoring? ’ 12
5. ot ot R 3 wir Reaferel fafa - (7 % 4 31%)
%) SgeR a9 Y wlie S & efwia o areh arfeat
T) IFER & iferdt

) i a5 wif iRl % mes

W) fufe sfaf of Sfardm
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2 : AG -77
Write short notes on any three: 4 each
a)  Warrantics under Boiler and pressure plant Insurance. '
by Contract Works policy
¢) Customers for Advance Loss of prolits policy
d)  Civil Engincering completed Risks. insurance.

RIF- (37 3 sreran) o when 0 § veel el g o 12
ST areh duim ek gafiE @ seorg HR

Mention the underwriting safeguards adopted by insurers before aceeptance 12
of Deterioration of Stocks (other than potatoes) insurance.

(T & 6 37F)
&) AR diferedt F wrmlt A 4t @ & T & H S W g
T 3T 3 el ©: uaSHl H Seeid B |
g) o TR viferdt & sienla F § sfRaw s fore st g § 2

a)  Outline scope of cover and mention six exelusions under Material 6 cach
Damage Section of CAR Policy
b) Which additional covers can be availed under CAR Policy?

(FF & 6 37F)
&) QST STy i T FfERT 6 e s ol Hich i oo
IR | |
W) SR dar & weod § gl 2 defers woneh ¥ wee # =t
- i

a) Specify the factors which intluence retention while arranging 6 cach
reinsurance.

b)  Discussthe importance of lacultauvc method of re-insurance inengineering
insurance.

(I & 4 3h)
ﬁmﬁf@aqﬁ%ﬁ?ﬁwﬁmﬁﬂwﬁaﬁaﬁ—ﬁwwmﬂqﬁ%

YR &l Sooig T |
F) WS U9 oies s

) | HEl -




10.

10.

3 ) AG -7
M)  gied ud &R

W) iifgat

Name the types of Plant and Machinery commonly found in any threeof 4 each
the following:
a) Rubber and Plastic Works

~b) Soap factory

¢) Hotels and Restaurants
d) I.aundries

(nFaaﬁ%awm)
maﬁmﬁ(qﬁqﬁ)m%aﬂﬁﬁﬁmﬁ—rﬁﬁaﬁrw&fﬁum%

%) sfgfd srafy
©) dHd g g9R
) < iy

What is meant by following under Loss of Profits (Machinery) Policy 4 each
a) Indemnity Period

b) Insured Standing Charges

¢)  Sum Insured?
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ferferer sfimr

ASSOCIATESHIP EXAMINATION
MISCELLANEOUS INSURANCE
g ;3 ue | . [@mer 3t 100
Time: 3 Hours] [Total Marks : 100
&%’r TS YYHT & ST AT | werm yvr & 16 3w ¢ ey e tPrard T ¥
IR TRH YT 12 3 HHE |

Answer EIGIIT questions only. Question ONE carrics 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
) TH IR T1e i Aumrd wem g1 o ) Sl TR, 39 g6y 12

¥ 39 3 & fore u ferege v 1 weier SR |

A prospective client wants to know about the Burglary firm loss
insurance. Draft a detailed letter to him in the above connection.
What is a “Valued Policy’?

Wﬁgﬁm@mm%mﬁﬁﬁmﬁ@ﬁﬁwaﬁm !

i) S-SR/ ST e ,

i) Safres iferet % sieda qua e @

iii) e SAfHRATT AT a0y

Explain the following, under the Personal Accident type of insurance.
i)  On-duty/off-duty cover

ii) Free additional benefits under the Individual policy.
iii) Group P.A. Cover.

fEar wiferdt i T Tvas 1 Seohg R |
 State the exclusions applicable to mediclaim policy.

hrater YRl HeT W TH g Rt fafa o

Write a detailed note on Office Protection Shield.




2 AG-78
Sl et 5w 8 o g e R S g w12

Describe the content of a pre-acceptance inspection rcport in respectofa 12
Burglary policy.

Fefeied =gl o W wiftra § feogoht e (9091 % 4 3i%)
i) S wfe gt |
iy AW oy F gl s

iii) F wRe fHim ~

iv) SeHE S

v)  OY] S W STEsie

vi) 3T Afsacy uiferdt § fafear s giwa

Write short notes on any three of the following:- 4 each
i)  Proportional treaty-reinsurance

ii) Cumulative Bonus in mediclaim Insurance

iii) Agricultural Pumpset Insurance

iv) Sports Insurance

v) General exclusions in cdttle insurance

vi) Medical selection procedure in overseas mediclaim pohcy

(3% & 6 37)
3) St scriep ST TR 3 fafers @ust 3 simia sTiE Ao AR |
g) IR uiferdt F feordl ©: WWW(EWW
a‘r@ﬁaﬁiﬁw)

a) Describe the cover under the different sections of the Jeweller’s Block - 6 each
Insurance policy.

b) Mention any six exclusions which appear in the above policy. (except
war and nuclcar risks)

3T) g &y uiferht & weeayet swreie faer # gEiaes ik | 8

¥) 9 uiterdl & s 0 rar el 2 7 4

a) List out important underwriting considerations in Money insurance 8
Policy.

b) Name the extensions available under this policy. - 4
. g ‘




10.

10.

3 AG -78
SR & 3uersy T fervarae et dr 3 Rt werd ot avl iR 12

Describe the various types of commercial Fidelity guarantee Insurance 12
policies available in the market.

(I0F & 4 3i)
) T HyEr viferedt S AR . 40,00,000 % frg sl TR | 3w
& S &. 60,000 F 1 G & | Y F T 7@ @ T A
SR forll 1 gt e . 50,00,000 & 1 & T TRy Reeh &2

) ¥ 3,00,000  fafd ¥ F T o A gder dierd s
St ST R 1 e % Bt R F 7 g 2 ol srew g |
 Fafte g0 S F 5% T sreR yAiE 2 T | ST
Ay TS AR A 0 HR |

%) T g viferelt S At St @ R sfy sifveea g w, 10,00,000
R 1 SrTAITT A SR . 1,50,00,000 8 1 T R dromar
H ®. 12,00,000 3 STvaeHAT g TR T FHA A T65
A & FoT o8 & St e | gt e s R A M F 1@
I et Al 2 A 7 s, B % R 0w, R s &
3 o e . 2 e d R g |

a)- A Burglary policy was issued for a sum insured of Rs. 40,00,000. A 4 each
claim occurred there under for Rs.60,000. It was found that at the
time of loss, the total valuc of the contents, at risk was Rs. 50,00,000.
What is the amount of loss payable?

b) A personal Accident policy is issued for a S.I. of Rs.3,00,000. As a
result of an accident, the Insured is totally disabled for 7 weeks. The
. Doctor also certifics that the Insured suffered Permanent disability
of 5%. Calculate the amount of claim payable. °

¢) A money policy is issued with a per carrying limit of Rs. 10,00,000
and the estimated annual carrying at Rs. 1,50,00,000. One day the-
Insured required Rs. 12,00,000 and accordingly an employee was
sent to withdraw the cash from the Bank. Unfortunately on the way
back, the money was looted. What is the amount of claim payable?
Incidentally till the date of loss, the total amount carried during the policy
period exceeded Rs. 2 Crores.
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ERERIESIERITE
ASSOCIATESHIP EXAMINATION
LIABILITY AND ENGINEERING INSURANCE

T 3 e | ~ [&et i : 100
Time: 3 Hours) [Total Marks : 100
%E&mm%waﬁqluwm%wm%mmaﬁaﬁqﬁ%l
AT A TR T 12 3HH E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each. _ -
. ’ Marks
(nﬁ?ﬁ % 8 3i)

1 @) asmganwaﬂﬁﬁm 1923 I FH F & IR F e
ST e 371 WRRafE 3 ==t HIR o e @ et sdard
I TS 3 A A ST AR R

) Wammm%uﬂq@g%mﬁﬁnﬂ?aﬁ%wﬁqﬁ
3EYESH HITSH H YA BT |

1" a) Statethe objectives behind introduction of workmen Compensation Act 8 each
1923 and enumerate the circumstances under whlch an employer is liable
for compensation to an employee.

b) Listout the documents required in support of a Marine claim under Marine .
Section of a Marine cum Erection Insurance Policy.

2. ﬂﬁaﬁamm%ﬁwﬁf@aﬁwﬁﬁ@ﬁﬁﬁwmm
fewfief fafan (F% & 3 3i)
%) IRw % gaR ‘

9) uRag

q) W A U yere g
T) ﬁmwa?raﬁwﬁwﬁr
 ¥) TEe
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Write short notes on any four of the following extensions of pubhc liability = 3 each
policy.
a) Carriage of effluents
b) Transportation
c) Food and beverages cover
d)  Property.in the custody of insured.
¢)  Swimming pool

(F2F & 6 31F)
) Rl s < e g e P R et et
I frar ST R 71 |
i) i g S oy diferdt & simia e erwew ¥ e
T & FerE HIRT | '
D) Whatare the details shown in arisk inspection report for rnachmery loss 6each

of profits policy?
i)  Mentionthe factors considered for risk asséssment under machinery loss

of profits policy?
it dfr uiferedt & deef & (IR F 6 3(F)
37) RO &F
F) o i 7 afergfleor & smuR i w=t Hifvg 1
Describe: » | k 6 each

a)  Scope of cover and ,
b) Basis of sum insured and indemnification in respect of a Machinery
Insurance Policy.

. (3w 3 3 35%)
Tl IUHoT s viferdl & dedf # frafelaa st w=t i

) el & e @
q) el sty
) quY ey
q)  STRIUT aRudt
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Describe the following in respect of an Electronic Equipment Insurance Policy: " 3each
a) Various sections of the policy,
" b) Indemnity Period,
¢) TimeExcess
- d) Maintenance warranty

ﬂﬁaﬁaé‘waﬂma@rﬁmwm%wﬁﬁmﬁgﬁmﬁ@
Tea=t et = e =i ' (uﬁa%mma)
) TAAS THY

q) e

§) Herer (Fsfe)

Q) e el (SHel)

Define any three of the following terms in relation to Public liability insurance 4 each :
Act1991. :
a) Hazardous Substance
b) Owner

¢) Handling

d) Tumover

. mmmag@ﬁwmmmmm (A T 4 3()
o) gl fmiy

) ™

T) ﬁstmﬁ

. Mention the construction hazards of followmg civil works— 4 each
a) Tinneling

b) Bridges

¢) TallBuildings

@ € 4 ot uiferdt o @ 2 56 R  ofid sueey dewT A el 12
AT |

What is a CECR policy? Describe the coverage under this .pblicy. 7 12
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10.

10.

3)
9)
)

a)
b) -
)

3)
)

4 :
ST wefsify wifert % wet o Frfiaw o et SR (9% % 4 37%)

AG -79

S AT wely
ST SrEfy
o iy

Describe the following inrelation to Erection All Risk Policy: 4 each

Insurable Property
Period of Insurance
Sum Insured

Wﬁmmm%mﬁé@aﬁ@qﬁml ' 6
et wramaferdi 9t v sife - (5% % 2 3iF)
) e g

i) R

i) 9 Ref

" Explain in briefthe operative clause of Product Liability insurance form. 6

Explain the terms : S 2-each
) _ Vicarious Liability

(i) Nofaultliability
»iii) Degree of case




